

BA 1

I.

Getting Business Started


A.

Economics of Firm




1.

Risk bearing among parties







a.

risk allocation:








i.

who is in best position to control risk?









ii.

who is in best position economically to bear the risk?











a.

person who can bear risk economically = party who won’t be













completely wiped out by loss







b.

minimizing risks:









i.

diversify risks











a.

don’t put all your eggs in 1 basket











b.

2 types of risks from investment in stock:













i.

market risk













ii.

firm idiosyncratic risk of particular business















a.

invest in different types of business to minimize









ii.

insure against the risk







c.

risk preferences of the parties:









i.

risk averse = those people who are willing to give up something or pay











to produce less variable result








ii.

risk neutral = those people who don’t care about variability of returns











and instead focus on highest expected return from business










a.

expected return = [(probability) (yield)] + [(probability) (yield)]








iii.
risk lover = those people who are willing to give up something or pay to











produce more variable result




2.

Monitoring







a.

problem of shirking creates need for monitoring







b.

costs business expense to conduct monitoring





3.

corporate form permits aggregation of capital, which law allows cuz:







a.

good managers might not have enough capital







b.

rich guys might suck as managers







c.

increase productivity and efficiency



B.

Choice of Organizational Form





1.

Default Characteristics (that can be drafted around)







a.

corporation









i.

limited liability for SHs










a.

corp is liable for its own debts in that creditors can’t look to













SHs personally to cover corp’s debts









ii.

free transferability of interest










a.

SH can freely transfer shares of stock to anyone they want













w/o pre-approval by other SHs









iii.
continuity of life – unlimited life










a.

business assumed to continue in perpetuity











b.

dissolution of business doesn’t occur when SH dies,













w/draws, or goes bankrupt; that SH’s shares of stock just













gets transferred








iv.
centralized management w/ hierarchy of management










a.

SHs =













i.

owners













ii.

elect bd or directors













iii.
have power to remove directors













iv.
vote on fundamental corporate transaxns













v.

no involvement in direct running of business











b.

bd of directors =













i.

select and oversee officers












ii.

serve interest of SHs













iii.
make judgments about major decisions for business












iv.
biz judgment rule = ct won’t 2nd-guess bd’s decision where it















uses a good process to reach its decision by fulfilling its:















a.

duty of good faith – directors must make decisions in

















good faith















b.

duty of care – directors must be diligent in informing

















themselves about transaxns or decisions making















c.

duty of loyalty – directors must make decisions in best

















interest of corp and its SHs instead of out of

















self-interest















d.

burden is on ind challenging bd’s decision to show the

















bd used a faulty process by abdicating at least 1 of its

















duties














e.

if ind successful in showing faulty process, ct will

















consider substantive fairness of bd’s decision










c.

officers =













i.

oversee day to day operation of business













ii.

senior employees







b.

general partnership









i.

unlimited liability











a.

investors in biz can be looked to for fulfilling debts of biz









ii.

transferability only w/ consent of all partners








iii.
dissolution on death or w/drawal of partner









iv.
management by partners equally








v.

need not file any docs w/ sec of state







c.

limited partnership









i.

made up of at least 1 general partner and at least 1 limited partner








ii.

limited liability










a.

general partner vs. limited partner













i.

general has unlimited liability in theory















a.

limited partnership can be set up such that general

















partner is an LL entity so that general partner does have

















LL (where general partner = LLC or corp)














b.

limited partner has limited liability










b.

model partnership rules












i.

old rules – § 303















a.

limited partner who participates in control of partnership

















is converted into general partner and loses LL












ii.

new rules















a.

limited partner who participates in control of partnership

















isn’t converted to general partner and doesn’t necessarily

















lose LL














b.

greater participation in management of partnership by

















limited partner is accepted








iii.
transferability











a.

assignee (party to whom partnership interest is assigned) of limited













partnership interest doesn’t become substitute partner UNLESS all













remaining partners of partnership consent to assignee’s













participation











b.

assignee is entitled to assigning partner’s income from partnership









iv.
continuity of life – what happens on death, w/drawal, or bankruptcy of a











partner?










a.

nothing happens w/ w/drawal of limited partner











b.

RULPA § 801 = w/drawal of general partner results in dissolution













of limited partnership IF:













i.

there is no other general partner UNLESS all of limited















partners vote to continue limited partnership and replace















the general partner












OR












ii.

there is another general partner and partnership agreement















permits remaining general partner to carry on partnership










c.

ULPA §§ 801(3) = dissociation of general partner results in













dissolution of limited partnership IF:












i.

there is no other general partner and majority of limited















partners don’t vote to continue the limited partnership and















replace the general partner












OR













ii.

there is another general partner, but majority of partners vote















to dissolve the partnership













iii.
if there’s a general partner remaining, default is that biz















continues where the partners don’t take any action









v.

centralized management











a.

general partners manage limited partnership










b.

limited partners may have default right to vote on actions that













fundamentally change the partnership only










c.

limited partners can be empowered to vote on more things as stated













in limited partnership agreement








vi.
need to file docs w/ sec of state







d.

LLC = limited liability company









i.

only characteristic LLC must have is LL








ii.

investors = members









iii.
other characteristics of LLC like management and continuity of life are











determined by what docs of LLC state










a.

relevant docs = operating agreement for LLC and articles of













organization/certificate of formation










b.

organizing docs for LLC must be filed w/ sec of state









iv.
allows SHs to get best of both worlds: corporate LL and partnership











pass-thru tax treatment









v.

IRS hasn’t taken the position that all LLCs receive pass-thru treatment











for fed tax purposes









vi.
in interpreting LLC statutes, cts will have to look to both partnership











and corp law





3.

Taxation of business entities






a.

2 different systems for taxing biz:









i.

corporate tax system/entity taxation










a.

applies to C corps and any unincorporated entity opting out of













pass-thru treatment










b.

C corp is treated as taxpaying entity separate from ind SHs












creating a double tax on corporate income (corporate tax and SH













tax)










c.

corp w/ TI










d.

SH tax takes 1 of 2 forms:













i.

when corp pays dividends to SHs, SHs must include dividend














as TI-O (tho currently, dividend TI-O receives favorable















capital gains rate)












ii.

if corp doesn’t pay dividends to SHs, SHs’ share value















increases and SH is taxed upon sale of that stock as capital















gains TI














a.

appreciation of stock only evades taxation when SH

















holds stock till death so that heir inherits stock and heir

















takes FMV of stock as heir’s AB










e.

avoiding double tax on corporate earnings by zeroing out corp at













year’s end












i.

at end of year, determine what biz’s income is












ii.

based on biz’s annual income, write bonus checks to investor-















employees













iii.
as salary, the bonus checks can be deducted from taxes












iv.
distributing entire year’s worth of biz’s income brings biz’s















TI to 0













v.

to be lawful, biz may only deduct and pay out amounts














representing a reasonable salary











f.

avoiding double tax on corporate earnings by loaning corp money













i.

SH lends the biz money to be invested as capital












ii.

instead of dividends, SH receives interest payments












iii.
biz can deduct interest payments made and biz can’t deduct















dividends paid










g.

tax implications of biz losing money:













i.

biz’s losses don’t pass through to SHs












ii.

loss remains at corp entity level as NOL














a.

NOL = net operating loss; corp’s loss during 1 year












iii.
corp can use NOL to deduct from TI  by carrying NOL back 2















years or carrying loss forward 20 years















a.

carrying loss back = if in previous 2 years corp had TI,

















corp can seek a refund















b.

carrying loss forward = if in any of next 20 years corp

















has TI, corp can deduct value of loss from TI to reduce

















its tax liability









ii.

partnership tax system/pass-through taxation











a.

partnership isn’t a taxpaying entity separate from partners so that if













partnership has income, partnership doesn’t have to pay tax and













only partners pay tax as part of ordinary TI when profits of













partnership allocated to partners










b.

applies to S corps, partnerships, LLCs










c.

when limited partnership goes public (infra Part I.B.4), it’s taxed












like C corp











d.

tho partnership entity doesn’t pay taxes on its earnings, it must still













file an information w/ IRS











e.

tax implications of biz losing money:













i.

biz’s losses flow to investors and are reported as losses on















investor’s returns












ii.

limits on use of losses by investors as tax deductions









iii.
ex: taxation and losses; yr 1 TI = 200; yr 2 TI = -300; yr 3 TI = 300











a.

corporate taxation:













i.

yr 2 loss = NOL that corp can carry back to yr 1 so that yr 1















TI = 0 and corp gets refund













ii.

100 of NOL remaining carry forward to yr 3 TI so yr 3 TI =















200











b.

pass-thru taxation:













i.

yr 2 loss passes thru to ind “SH”/partners







b.

C corp vs. S corp









i.

S corp =










a.

corp must meet statutory eligibility requirements or there’s an













automatic conversion to a C corp:













i.

corp can’t have more than 100 SHs













ii.

SHs can’t be non-resident aliens (no foreign SHs)












iii.
there can be no entity SH












iv.
there can be no more than 1 class of stock issued by the corp















a.

corp must be careful w/ this 1 since issuing more than 1

















class of stock isn’t the only way a corp can be deemed to

















have more than 1 class of stock











b.

to create an S corp:













i.

corp must meet statutory eligibility requirements













AND













ii.

corp must file S corp election w/ service w/in a limited















amount of time










c.

taxed like partnership so like partnership pass-thru and dividend













distributed to partners not taxed twice









ii.

C corp = any corp not an S corp





4.

Deciding what form to use based on several considerations







a.

formality









i.

no formality – general partnership cuz doesn’t require any docs for










formation as it can operate w/o any written agreement among the











investors








ii.

formality – corp, limited partnership, LLC cuz have to draft docs and











file w/ govt for formation









iii.
can the parties go w/o a written agreement to govern their biz









iv.
how much are investors willing to spend to form the biz









v.

how much money is at stake









vi.
do the investors like the default rules or does there need to be a written











agreement to provide the drafting around the default rules







b.

ability to raise capital









i.

biz expected to go public










a.

going public = selling some percentage of biz to public in some













form of public stock offering











b.

can’t use LLC, general partnership, S corp











c.

can use limited partnership, C corp








ii.

biz expected to remain small or privately held











a.

needn’t worry as much about form







c.

taxation (supra Part I.B.3)









i.

consider rates of corp vs. rates of inds







d.

default rules – which are the best fit so require least drafting around (supra









Part I.B.1)









i.

find best fit so atty drafting written agreement has to do the least











amount of work resulting in a lower bill









ii.

LL










a.

who wouldn’t want LL











b.

consider negative implications for borrowing as LL entity













i.

lending to LL entity, creditor knows it may not be paid back















in full












ii.

cuz creditor knows creditor is dealing w/ LL entity, while















doing biz w/ LL entity, creditor will be sure to protect itself















a.

a SH is required to opt out of LL status by providing a

















personal guarantee on the loan (recourse loan)

















i.

even if a SH has to do this, it still beats entity w/o



















LL cuz SH only personally liable for this 1 loan and



















not for entire liability of the entity















OR















b.

SHs place more capital into biz as assets or as

















subordinated debts to cover creditor’s bill















OR















c.

creditor charges higher interest rates








iii.
allocation of control and management











a.

corp – hierarchy of power












i.

seats on bd of dirs through purchase of voting stock












ii.

either common or preferred stock can be voting stock













iii.
voting















a.

straight voting = majority SH can pick every seat on bd















b.

cumulative voting = the # of votes an ind SH has all

















count towards choosing seats on the bd













iv.
usually there’s a tradeoff btwn voting stock and preferred















stock such that voting stock usually isn’t the preferred stock









iv.
continuity of life vs. limited life of biz









v.

transferability of interest


C.

Setting up the corp





1.

ethics







a.

conflicting interests btwn the parties









i.

professional ethics forbids atty from representing more than 1 client











where exercise of atty’s independent judgment on behalf of a client is











likely to be adversely affected by representation of another client










UNLESS client consents after full disclosure by atty as to the conflict






b.

atty must maintain confidentiality of all clients







c.

atty retained by corp owes duty of allegiance to corp




2.

state of incorporation






a.

internal affairs doctrine









i.

the law of the state of incorporation governs the corp’s internal affairs








ii.

internal affairs of corp = corporate governance w/in the corp











a.

relationship btwn SH and corp











b.

rights of SHs to vote











c.

right of SHs to receive dividends











d.

rights and obligations of management











e.

fiduciary duties dirs owe SHs







b.

external affairs doctrine = external affairs are governed by state where corp









is operating







c.

Del. vs. home state









i.

race to the bottom vs. race to the top











a.

managers choose state of incorporation so they will choose the













state w/ corporate law favoring management vis-à-vis SHs










b.

some argue that as states compete for corporate charters, there is a













race to the bottom in providing less and less protection for SHs











c.

some argue that as states compete for corporate charters, there is a













race to the top cuz in long run management can’t get away w/













shafting SHs since SHs can remove managers and market regulates













by making poorly managed corp into takeover target








ii.

most small corps incorporated in state where they do biz








iii.
corp must register as a foreign corp to do biz in state other than state of











incorporation





3.

Del. provisions







a.

who sets up the corp? who is the incorporator?









i.

incorporator need not be an atty









ii.

BUT Del. 101(a) = incorporator must be an atty







b.

steps to incorporation:









i.

creating a certificate of incorporation that includes:











a.

mandatory items – Del. 102(a):












i.

name of corp















a.

indicating the biz entity is a LL entity















b.

can’t be deceptively similar to another biz













ii.

name and address of registered agent and registered office of















corp – Del. 131 & 132














a.

registered agent facilitates service of process on corp














b.

another corp as the registered agent is fine as long as

















corp serving as the agent:

















i.

is a domestic (to the state) corp
















OR
















ii.

foreign corp registered to do biz in state














c.

ind as the registered agent is fine as long as ind is a

















resident of the state













iii.
purposes of the corp















a.

Del. 102(a)(3); Cal. 202(b)














b.

general language satisfies this requirement (corporate

















purpose = to perform any lawful activity)














c.

doctrine of ultra vires

















i.

where corp contracts to do something that its


















corporate charter doesn’t state as part of its purpose,



















corp could invoke ultra vires to get out of its



















obligation













iv.
statement of initial capitalization of the corp















a.

info on stock authorized to be issued by corp, specifying:
















i.

# of shares bd of dirs authorized to issue
















ii.

par value of each share



















a.

par value = minimum consideration bd of dirs





















will receive for a share

















iii.
classes of stock

















iv.
what about blank check preferred stock












v.

designate initial dirs if incorporator’s power is to terminate















upon incorporation










b.

permissive items – Del. 102(b)












i.

relief for dirs of duty of due care














a.

only relieves dirs of liability for monetary dams















b.

doesn’t relieve dirs of liability for declaratory relief

















against them











c.

including in certificate or bylaws:













i.

bylaws can be amended by either SHs, or dirs if granted















power in















certificate of incorporation












ii.

2 step process to amend certificate of incorporation:















a.

approval by bd of dirs















b.

SH approval of director resolution








ii.

incorporator files certificate of incorporation (articles of











incorporation/corporate charter) w/ secretary of state of state – Del. 103










a.

certificate signed by incorporator










b.

fees and taxes paid











c.

original certificate goes to secretary of state







c.

bylaws adopted – Del. 109








i.

gives names of initial dirs who serve until 1st SH meeting








ii.

who can adopt or amend











a.

timing is important:













i.

if stock hasn’t been issued, incorporator has power to adopt or















amend bylaws













ii.

if initial dirs are named before stock is issued, dirs have















power to adopt or amend bylaws












iii.
if stock has been issued, SH have power to adopt or amend















bylaws











b.

dirs can be granted power to adopt or amend bylaws through













certificate of incorporation, but dirs w/ power doesn’t divest SHs













of also retaining the power to adopt or amend bylaws









iii.
where bylaws conflict w/ certificate of incorporation, certificate of











incorporation trumps bylaws









iv.
often specifies titles and general duties of officers









v.

typically contains ground rules for operation of biz









vi.
Del. default = only SHs can amend bylaws







d.

special meeting of SHs








i.

Del. 211(d) – bd of dirs has power to call meeting, but certificate of











incorporation or bylaws can specify otherwise








ii.

quorum











a.

established by # of voting shares and not by # of SHs entitled to













vote











b.

50% of shares required










c.

approval requirement = majority of shares present making up













quorum









iii.
Del. 228 – allows SHs to act w/o holding a meeting through consent of











# of shares required for approval had there been a meeting






e.

dirs








i.

Del. 141(k) – removal before expiration of term










a.

any dir may be removed w/ or w/o cause at any time by holders of













majority of voting power of issued and outstanding capital of stock












entitled to vote at election of dirs












i.

exceptions where can only be removed for cause:














a.

class-designated bd















OR














b.

cumulative voting, where # rejecting removal would be

















enough to elect dir









ii.

Del. 141(f) – permits axn by dirs w/o meeting











a.

axn by dirs w/o meeting requires unanimous written consent of dirs







f.

committees









i.

Del. 141(c)











a.

majority of whole bd can vote to create committees











b.

committees have authority to act for full bd, but there are certain













decisions committees can’t make






g.

corporate minute book = corporate minutes








i.

written record of all important decisions made by management









ii.

corporate formality





4.

promoter’s liability on pre-incorporation Ks







a.

where promoter enters into Ks on behalf of corp before corp legally comes









into existence






b.

general rule = promoter is liable for pre-incorporation Ks entered into on









behalf of corp to be formed






c.

exception =









i.

ex ante (to avoid promoter liability before entering into K)











a.

promoters should sign K: [name of corp + to be formed] [in













formation or a corp to be formed] by [name of promoter], promoter










b.

ideally, either:













i.

K specifically provides for novation when corp comes into















existence














a.

novation = legal substitution of 1 party for another in K

















by agreement of all parties













OR













ii.

promoter should wait till corp formed to enter into K













OR













iii.
promoter should take assignable option on K and assign















option to corp after it’s formed








ii.

ex post (to avoid promoter liability after entering into K)











a.

minority view = cts sometimes look to intentions of parties, based













on all facts and circs, to determine whether promoter is liable on













pre-incorporation K

II.

Corps as Legal Entities


A.

corp & Const





1.

corp is entity separate from SHs





2.

1st Nat’l Bank of Boston v. Bellotti






a.

assume corp has 1st rights unless there’s some reason under special circs corp









shouldn’t have 1st rights






b.

state can abridge speech of corp only upon showing of compelling state









interest






c.

statute here found unconst for limiting corp’s 1st rights w/o justifying









compelling state interest







d.

this case doesn’t stand for the rule that states can never regulate corp’s









speech







e.

reasoning for corps having 1st rights:









i.

right of listeners:











a.

corps add to political discussion










b.

exchange of ideas in public is important











c.

rights of listeners to info









ii.
right of speakers






f.

whether state law may forbid corps from making expenditures to influence









referendum that doesn’t materially affect corp






g.

potential compelling state interests:









i.

drown out theory










a.

power of corp speech has potential to drown out ind speech











b.

viable arg so long as there’s ev that corp speech overwhelms ind













speech











c.

based on idea that charters granted by states allow corps to amass













huge amounts of money and power so state should have authority













to regulate that money and power it allowed corp to amass








ii.

other people’s money theory










a.

interest in protecting SHs against dirs who use SHs money to













promote certain ideas










b.

viable if SHs have no other recourse to prevent their money from













being used for spreading ideas, but SHs often have other means:













i.

elect different dirs and remove those disagree w/












ii.

get other SHs motivated to amend bylaws













iii.
suit alleging breach of fiduciary duties












iv.
sell shares













v.

use outside dirs


B.

Corp & Society





1.

2 corp models:







a.

traditional model of the firm









i.

SHs reign supreme









ii.

purpose of corp = maximizing wealth of SH








iii.
focus on corp governance issues








iv.
implications:











a.

everyone not a SH considered an “other” group outside “the firm”










b.

dirs’ obligation directly to SHs









v.

continues to be the dominant corp model







b.

new economic theory of the firm – corp as a K








i.

corp = nexus of Ks among factors of production; amalgamation of











agreements btwn fictional entity and all those who interact w/ it











contractually








ii.

corp law = enabling instead of mandatory by setting the rules in a way











to minimize transaxn costs, but allowing for King around default rules









iii.
focus on efficiency concerns in its attempt to minimize transaxn costs





2.

Berle-Dodd debate







a.

Berle – corp’s role in society = to maximize SH wealth






b.

Dodd – corp has both social service and profit functions




3.

Dodge v. Ford Motor Co.






a.

corp refused to distribute dividends cuz wanted to retain earnings for









philanthropic purposes







b.

whether corp can refuse to distribute dividends so corp can engage in









philanthropic purposes when SHs want profits for dividends






c.

ct ordered distribution of dividend for SHs







d.

traditional corp model guided reasoning of the case – corp’s purpose is to









maximize profits of SHs




4.

ALI principles of corporate governance – 2.01






a.

corp’s purpose = to maximize profits of SHs w/ a little wiggle room for other









stuff






b.

even if dirs’s axn doesn’t maximize SH profit, dirs may still perform axns









that:








i.

are consistent w/ law









ii.

take into account ethical considerations









iii.
devote money to philanthropic purposes





5.

constituency statutes







a.

state statutes allow dirs to take into account constituencies other than SHs







b.

in 1 state, statutes require dirs to take into account constituencies other than









SHs







c.

Del. and Cal. lack constituency statutes







d.

new economic model of corp guiding legs passing these statutes – generate









market for corporate social responsibility




6.

role of counsel







a.

MR 2.1 – atty as advisor









i.

atty exercises independent professional judgment








ii.

in advising corp, atty can refer to moral, social, economic, political











factors









iii.
atty has duty to communicate w/ client as to adverse legal consequences







b.

Painter theories









i.

moral independence theory











a.

atty only assists client











b.

atty is independent of client so avoids responsibility for













consequences of client’s axns









ii.

moral interdependence theory











a.

attys and corp clients work together to achieve objectives











b.

atty must accept some responsibility for conduct of clients











c.

atty involved in creating deals for corp client rather than merely













documenting or evaluating deals may have difficult time













objectively evaluating transaxn for client



C.

corporate charitable giving & social responsibility




1.

tax law encouraging corporate charitable giving rather than SH charitable giving







a.

corp gets deduction for charitable giving reducing corp’s TI and SH’s TI









from corp profits reduced by charitable deduction






b.

where SH gets a dividend and then makes the charitable gift, full amount of









corp profits including charitable gift by SH counted in corp’s TI and tho SH









gets a deduction, SH must pay dividend tax




2.

state statutes on corporate charitable giving







a.

Del. 122(9) – see Cal.






b.

Cal. 207(b)









i.

tho dirs owe duty to SHs, corp may make charitable gift (considered











detrimental to SHs) despite no showing of any benefit flowing to SHs











from the gift





3.

biz judgment rule cases:







a.

considering the process to see whether the process dirs used to decide is









good so that biz judgment rule applies and ct won’t consider substantive









fairness of the dirs’ decision








i.

Kahn v. Sullivan










a.

ct considers whether process dirs used to decide is good so that biz













judgment rule applies to protect dirs’ decision and ct doesn’t have













to engage in consideration of substantive fairness of dirs’ decision










b.

process bd used to decide to make charitable gift = good:












i.

bd set up special committee of dirs to consider decision












ii.

special committee used to evaluate dirs’ decision composed of















outside, independent, and disinterested dirs















a.

outside = dirs aren’t also officers















b.

disinterested = not associated w/ donee













iii.
special committee considered wisdom and legality before















making a decision












iv.
special committee hired experts for advice before making















decision













v.

even tho not required by Del. statute, special committee even















considered how making the gift could actually benefit SHs











c.

no pet charities







b.

process dirs used to decide is defective forcing the cts to override the biz









judgment rule and consider the substantive fairness of the dirs’ decision








i.

Theodora Holding Corp. v. Henderson











a.

biz judgment rule doesn’t apply and ct considers substantive













fairness of dirs’ decision











b.

standard for judging substantive fairness of dirs’ decision (to make













charitable gift) = reasonableness test













i.

was amount of contribution reasonable?















a.

ct looked to IRS code to determine if amt reasonable:

















code puts a cap on deduction a corp can take through gift
















= 10% of adjusted gross income














b.

it’s unclear whether going beyond cap in code is

















unreasonable












AND













ii.

was purpose of contribution reasonable?















a.

balance: benefits of those served by charity vs. loss of

















corporate assets to SHs














b.

unreasonable purpose might be gift to pet charity of dir
III.
LL



A.

rationale for LL and a critique





1.

rationales:







a.

promotes capital formation






b.

reduces monitoring costs w/ respect to other SHs






c.

facilitates diversification of investment by SH







d.

facilitates orderly trading of investments (makes possible free transferability









of corp stock)






e.

encourages corporate managers to take business risks to promote growth







f.

gives managers incentive to act efficiently so they don’t get fired







g.

main reason why small biz incorporate





2.

critique:







a.

managers may not control risks they could control cuz have protection of LL







b.

involuntary tort creditors have no way to bargain around LL to protect









themselves like K creditors and bear risk of LL






c.

K creditors w/o power to bargain around LL to protect themselves and bear









risk of LL






d.

most K creditors presumed by corporate law to be able to K around risk





3.

remedies:







a.

legal options for disappointed creditor – what does creditor do when debt









owed by corp and a creditor is not getting paid?









i.

try to argue that notw/standing the general rule of LL, ct can pierce the











corporate veil and proceed personally against SH of corp









ii.

argue violation of legal capital rules (infra Pt. VII)








iii.
invoke doctrine of equitable subordination – Deep Rock Doctrine (infra











IV-G-2)








iv.
invoke fraudulent conveyance or fraudulent transfer (infra VII-C)








v.

fiduciary duty of dirs to creditors



B.

exception to LL: piercing corporate veil





1.

piercing corporate veil = exception to general rule of LL





2.

if piercing claim is good, even when only against 1 SH, veil pierced as to all SHs





3.

theories or factors that might support piercing claim:







a.

instrumentality/alter ego/agency theory









i.

showing required:











a.

domination and control by SH













i.

BUT cts recognize that for small, closely-held biz, SH will















dominate or control biz and this isn’t necessarily wrong and















for sub, parent will dominate and control sub and this isn’t















necessarily wrong












ii.

indications of control:















a.

disregard of corporate formalities (keeping minute

















books, records; holding meetings)














b.

undercapitalization















c.

intermingling of funds such as using corp assets to pay

















personal expenses















d.

overlap in ownership, officers, dirs, employees















e.

common office space, address, phone #















f.

degree of discretion shown by allegedly dominated corp















g.

whether dealings by parties are arms-length dealings

















i.

are types of transaxns strangers would enter into?















h.

whether corps treated as independent profit centers















i.

payment or guarantee of corp’s debts by dominating SH















j.

intermingling of propty btwn entities













iii.
for parent-sub cases, indications of domination and control















under totality of circs: (p. 99 1-11)














a.

whether sub adequately capitalized















b.

whether corporate formalities of sub observed















c.

whether dominant SH siphoned off corp funds of sub















d.

whether sub just façade for parent













iv.
for parent-sub cases under Del. law, P must show:














a.

parent and sub operated as single economic unit














AND















b.

overall element of injustice or unfairness present











AND











b.

domination or control resulted in unjust injury













i.

unjust injury = judgment proof debtor w/ outstanding liability











AND











c.

fraud













i.

not for tort creditor (showing of fraud merely strengthens















creditor’s case)













ii.

for K creditor, unless K creditor appears to be involuntary















(adhesion K)






b.

undercapitalization








i.

usually treated as a factor to be considered among other factors,











insufficient on its own to support piercing claim









ii.

BUT there are 9th Cir. cases interpreting Cal. law holding











undercapitalization alone enough to pierce corporate veil











a.

likely to be enough alone in 9th Cir., esp. in Cal.











b.

requires severe undercapitalization













i.

need of loans













ii.

no insurance if minimum insurance required by law













iii.
even if no insurance required and lacks insurance, if it’s















reasonably foreseeable insurance would help, it looks bad w/















no insurance







c.

failure to observe corporate formalities









i.

usually treated as a factor to be considered among other factors,











insufficient on its own to support piercing claim







d.

fraud/misrepresentation









i.

alone it may be sufficient to support piercing claim, but usually tied to











other factors to support piercing claim





4.

tort creditor considered more sympathetic than K creditor who could’ve







contracted around LL to protect itself







a.

standard for piercing veil for K creditor = higher than standard for piercing









veil for tort creditor






b.

K creditor standard = tort creditor standard + showing of fraud/misrep


C.

Cases:





1.

K cases







a.

Freeman v. C3









i.

F =











a.

G sets up C3, a shell co










b.

G forms G Inc w/ G as sole SH











c.

when C3 is set up, G is affiliated w/ C3 as independent contractor













and G uses G Inc. to enter into consulting agreement w/ C3











d.

for C3, G:













i.

provides market for software













ii.

consults clients













iii.
sole signatory on C3’s bank account













iv.
can buy co whenever wants for $2K












v.

structure set up so G is performing 100% of services for C3












vi.
gets everything generated in form of net profits











e.

G attempts to fire F who feels entitled to residuals











f.

G hired by T as VP when T bought C3













i.

T assumed most of C3 liabilities, except liability for F’s K












ii.

G has all the money T paid in acquisition of C3 except for















10K left in C3 bank account









ii.

G argues G can’t be liable under veil piercing cuz G isn’t SH, officer,











director, employee of C3









iii.
ct rejects G’s arg and pierces corporate veil of C3 to G cuz finds G is











equitable owner tho not nominal owner










a.

ind doesn’t have to be owner of corp for piercing to result in ind’s













assets being taken to cover liability of corp for which ind is the













equitable owner










b.

totality of circs:












i.

G exercised lotsa authority over C3













ii.

G disregarded corporate form













iii.
G managed assets of C3 as if they were his













iv.
C3 failed to keep corporate minutes (failure to observe















corporate formalities)













v.

G personally indemnified sole SH













vi.
pres of C3 never attended meeting of bd of dirs of C3













vii.
C3 never paid dividend despite corporate income that’s















massive













viii.
G received most of C3’s revenues













ix.
C3 operated out of G’s apt along w/ G Inc.













x.

G = sole signatory on C3’s bank account













xi.
agreement G was to do everything C3 did and terminable if G















couldn’t perform













xii.
G had on resume that he was principal manager and owner of















C3, representing to world that he was C3













xiii.
C3 paid for atty who negotiated deal btwn G and T













xiv.
G got proceeds of sale of C3 to T













xv.
G had option to buy shares of C3 for $2000, so at any point he















could become nominal owner of C3 for that amt









iv.
G then argues that even if G exercised control over C3, veil can’t be











pierced unless F shows fraud by G through C3 to injure F









v.

ct accepts G’s arg and remanded to lower ct to determine whether G











used control to injure F





2.

Tort cases







a.

Magnan v. Terminal Transp. Sys.









i.

can P, injured by operating co, recover from TTS, the named D cuz











operating co which actually was neg doesn’t have the money









ii.

how is TTS an “owner” through the corporate structure?











a.

operating co owned 60% by parent of the D











b.

TTS is in a position to control and reduce neg of drivers in













operating cos; therefore, TTS should be held liable and its assets













should be made available to P











c.

TTS related through ownership like a cousin (not parent or bro)











d.

TTS is wholly-owned sub of operating co’s 60% parent









iii.
TTS isn’t liable just cuz it’s related; it’s liable for its domination and











control over the operating cos so it’s ok for P to recover from TTS by











piercing operating co’s veil cuz there’s nothing to operating co that TTS











didn’t do











a.

indications of control of operating cos by TTS:













i.

TTS told operating cos what to do everyday













ii.

TTS provided inspectors, starters, and supervisors to control















drivers













iii.
accounted for daily receipts and payroll













iv.
furnished legal services to operating cos













v.

sold operating cos all parts, gas, oil, tires













vi.
hired mechanics and ran repair shop













vii.
approved all drivers









iv.
this case is important for showing that it’s not always the parent who is











the owner who can be liable when corporate veil pierced cuz an











equitable owner can be liable when veil pierced







b.

Walkovsky v. Carlton









i.

common control and ownership of 10 cab cos by C









ii.

I = whether C can be dismissed out through C’s LL or whether C can be











liable by piercing the corporate veil









iii.
no facts here showing actual domination and control by C over cab cos









iv.
only possible argument for piercing corp veil = undercapitalization










a.

undercapitalization alone not enough to pierce corporate veil










b.

general rule = when determining sufficiency of capitalization,













operative time frame is time of formation of biz










c.

exception to general rule = when nature or scope of biz changes,













SHs responsible for making sure biz sufficiently capitalized to deal













w/ reasonably foreseeable operations of new biz nature or scope









v.

insurance should be added in total for determining sufficiency of











capitalization











a.

corp not undercapitalized by purchasing only minimum insurance













mandated by state law cuz not for ct to require capitalization













beyond minimum liability insurance mandated by state leg





3.

Parent-Subsidiary & affiliated corp cases







a.

In re Silicone Gel Breast Implants Prod. Liab. Litig.








i.

in order to pierce corp veil and hold B liable for MEC, B’s wholly-











owned sub, look for ev parent-B dominated and controlled sub-MEC











such that it would be fair to go after assets of B to satisfy tort judgment











against sub-MEC









ii.

incriminating F =











a.

MEC board = 2 directors from B (dirs shared); 1 from MEC











b.

MEC people said never knew anything about a bd existing











c.

former MEC pres said never received notice of board meetings











d.

few corp resolutions adopted by MEC prepared by B











e.

MEC had to submit periodic reports to B about what’s going on











f.

MEC had to get B approval of its budget











g.

cash received by MEC transferred to account maintained by B













i.

this isn’t payment of intercompany dividend (distribution of















profits) it’s a holding account for MEC w/ MEC’s cash















managed by B













ii.

B used MEC’s resources as its own











h.

B controlled MEC’s employment policies











i.

MEC key executives received B stock options











j.

B provided to MEC laboratories, scientific experts, attys, quality













control testing, PR (centralized production functions loaned to sub)











k.

B’s name and logo appeared on package materials and promo













products for implants











l.

B’s name and logo used as marketing tool to sell MEC product










m.
common business depts.











n.

filed consolidated financial statements and tax returns











o.

undercapitalization











p.

senior B member of MEC bd couldn’t be outvoted by other 2













members of MEC bd






b.

Fletcher v. Atex









i.

relevant factors to show domination and control of A by K:











a.

corporate formalities met













i.

A bd met regularly













ii.

A bd prepared minute books and maintained them













iii.
A prepared its own finances and files













iv.
A filed its own tax returns













v.

A had separate employees and management













vi.
contract approval of big contracts A entered into













vii.
1 dir of A on K’s bd but no degree of overlap on sub bd











b.

A participated in K’s cash management system













i.

cash transmitted to parent and parent corp managed















commingled funds of subs but parent kept track of how much















each sub contributed













ii.

parent responsible for repaying funds contributed by subs











c.

K’s logo used on A’s promo material













i.

promo material stated:















a.

A was an agent of K















b.

A was merged w/ K and in merger 1 entity ceases to

















exist as matter of law















c.

A was separate division of K















d.

A was unincorporated division of K sub













ii.

what was consumer of keyboard thinking when saw K logo?















a.

consumer thought K vouching for keyboard















b.

this argument is stronger here because consumer actually

















is the one buying the product and so would be moved by

















parent logo











d.

A assigned mortgage of former CEO to K to close sale of A’s













assets to 3rd party













i.

A paid K value of note so no big deal


D.

Alternatives to piercing for creditors




1.

equitable subordination (infra IV-G-2)






a.

creditor-SH kicked out of creditor group such that creditor-SH’s loan to corp









is treated as residual claim w/o priority of class of creditors






b.

creditor seeking to get SH-creditor’s debt subordinated must show some









wrongdoing by creditor-SH, but it need not be shown to be wrong at the









level of fraud





2.

fraudulent conveyance (infra VII-C)






a.

corp transfers assets for less than equivalent value cuz corp is trying to get









rid of assets so creditor can’t get them







b.

ct unwinds offending transaxn, bringing transferred assets back into









corporate solution




3.

legal capital rules (infra Pt. VII)






a.

if corps management (dirs) declare and pay illegal dividend or perform









illegal redemption, dirs are personally liable to repay corp amt of illegal









dividend or redemption





4.

pierce corporate veil (supra Pt. III)





5.

dirs owe fiduciary duties to creditors






a.

general rule = dirs do not owe fiduciary duties to creditors






b.

exception to general rule when:









i.

if corp is insolvent or on brink of insolvency









OR








ii.

creditors are in a trust-type relationship w/ co as a bank is
IV.
Corporate Securities



A.

Elements of corporate security





1.

factors considered to decide what type of security to issue






a.

entitlement to income of biz during operation







b.

entitlement to assets of biz during liquidation









i.

Q of where security fits in liquidation hierarchy of priorities







c.

entitlement of security holder to a say in corporate governance









i.

can security holder vote?









ii.

if security holder can vote, what can security holder vote on?







d.

duration of investment







e.

transferability of securities



B.

Determining capital structure





1.

2 types of corporate securities:







a.

Equity








i.

details in certificate of incorp








ii.

incorporator and investors determine classes of stock and par value









iii.
if dirs want to sell more stock than authorized by certificate of











incorporation, certificate of incorporation must be amended to authorize











more stock to issue






b.

Debt








i.

details in debt Ks btwn corp and lenders








ii.

if officers recommend dirs authorize issuance of debt, dirs authorize










debt through resolution








iii.
forms of debt:











a.

bank financing










b.

bond











c.

debenture











d.

note



C.

Financial Leverage





1.

where overall return on investment is greater than interest rate paid on debt, use of







debt in capital structure increases percentage return on equity







a.

the more debt (leverage) in capital structure, higher return on equity (in %









terms)





2.

where overall return on investment is equal to interest paid on debt, use of debt in







capital structure does nothing, but in the long run it may be awesome since it







allows for expanding the business







a.

% return on equity is the same as % on interest and return on investment %





3.

where overall return on investment is less than interest paid on debt, use of debt in







capital structure decreases percentage of return on equity







a.

the more debt (leverage) in capital structure, greater loss on equity (%) and









may even be a complete loss







b.

this means that return on investment isn’t enough to pay interest payment to









debtor, taking away from capital already invested in corp



D.

Debt





1.

interest on debt







a.

coupon on the bond = interest payment on bond







b.

zero coupon bond = bond w/ zero stated interest, but zero stated interest









doesn’t mean bond won’t yield interest, the interest is merely unstated and









paid upon bond’s maturity






c.

original issue discount (OID) = unstated interest on bond







d.

interest represents compensation for use of someone else’s money for a time







e.

determining interest rate:









i.

riskless rate of return = amt of interest charged where there is no risk of











default and accounts for time value of money








ii.

compensation for risk of default = amount added to riskless rate of











return rate to compensate lender for risk of losing his principal cuz of











borrower’s risk of default






f.

tax consequences: corp deduction for interest paid or accrued (due) on debt









i.

important when determining capital structure based on debt or equity











cuz equity doesn’t have this beneficial tax treatment











a.

corp’s TI includes dividend corp pays SHs











b.

corp’s TI doesn’t include interest corp pays to creditors





2.

contractual nature of debt







a.

who negotiates debt K?









i.

where BHs = public











a.

negotiated by underwriter (investment bank) and corp issuer










b.

UW buys debt from corp issuer and sells debt to public








ii.

rights of BHs in bond Ks, not corp’s certificate of incorp







b.

issues to be negotiated:









i.

interest











a.

rate/amt












i.

stated or unstated













ii.

UW must figure out what rate at which to sell bonds so that















public will want to buy them













iii.
if interest rate stated is higher or lower than market interest,















public adjusts for that fact by buying for more or less than















maturity amount promised













iv.
bonds sold:















a.

at par = bonds sold for face amt















b.

sold for discount = bonds sold for less than par















c.

sold at premium = bonds sold for more than par











b.

payment schedule












i.

period of payment – annual or zero-coupon bond








ii.

repayment of principal and the BH’s concern he won’t get his principal











back











a.

terms can be placed in debt K to make BH feel more comfy BH













will get his principal back and helps borrower by bringing interest













rates down cuz terms provide lender protection in lieu of high













interest rates












i.

sinking fund provision = requirement that corp issuer set aside















stated amt of funds each year to make sure there’s a pot of















money out of which principal can be repaid












ii.

mandatory redemption of bonds periodically = every now and















then corp issuer buys its bonds back









iii.
right to convert











a.

bond converted into corp’s stock by BH’s election to exchange













bond for corporate stock










b.

to convert bond into stock, bond must originally be issued as













convertible debt










c.

convertible debt, when converted, can dilute SH’s interest cuz













more shares are outstanding








iv.
priority











a.

debt’s place in liquidity hierarchy of priority











b.

secured or unsecured debt










c.

hierarchy:













i.

class of secured creditors













ii.

class of general unsecured creditors















a.

senior general unsecured creditors














b.

subordinated general unsecured creditors













iii.
equity interests














a.

preferred stock interest














b.

common stock residual interest








v.

events of default and rights on default











a.

default occurs according to whatever K says









vi.
negative covenants = contractual restrictions on debt issuer










a.

ex:












i.

prohibition on issuance of new debt senior to debt issued in K













ii.

prohibition on paying dividends unless certain formula















satisfied













iii.
prohibition on entering into certain transaxns








vii.
role in corporate governance











a.

default rule = creditors don’t have any rights to participate in












corporate governance











b.

BUT K can give creditors right to participate in corporate













governance









viii.
information











a.

BHs want info about current happenings of corp










b.

large public corps subject to fed securities law disclosures













i.

corp must make certain disclosures to public, but this doesn’t















necessarily include all info BHs want to know











c.

where debt raised in private markets













i.

creditors will want specified in K they’re entitled to certain















disclosures


E.

Equity





1.

statutory authorization of issue stock







a.

Del. 151(a) = corp through bd can issue stock through various classes and









series







b.

voting stock = straight voting in Del.; cumulative voting in Cal.





2.

common stock vs. preferred stock







a.

preference:








i.

dividend preference = preference in operating distributions










a.

participating vs. capped













i.

participating = amt preferred stock gets isn’t limited; dirs get















to decide the amt













ii.

capped = amt preferred stock gets is limited to a certain















percent











b.

dirs can’t declare and pay a dividend on common stock SHs unless













dirs pay dividend on preferred stock








ii.

liquidation preference = preference in liquidating distributions











a.

preferred over common stock, but subordinate to debt












i.

preferred stock vs. debt – tax consequences:














a.

corp gets tax deduction for interest paid on debt














b.

corp must issue interest on debt or corp is in default















c.

corp doesn’t get a deduction for dividend paid out to SH














d.

corp doesn’t necessarily have to distribute dividend














e.

T will get periodic interest payments















f.

T won’t be sure when T will receive a dividend















g.

interest received is taxed as TI-O














h.

dividends received is taxed like TI-CG favorable

















rate for T














i.

w/ dividend, if corp does well, T gets a great return














j.

w/ interest payment, if corp doesn’t do well, T at least

















gets same return regardless





3.

terms of equity securities







a.

ex: 5% cumulative preferred stock








i.

cumulative = for every year 5% dividend is not paid, dividend amts











accumulate and carries over to next year








ii.

dirs can’t pay dividend to common stock or other preferred stock until











dirs pay preferred SHs their cumulative dividend and are all caught up










even if after bd pays dividend to 5% cumulative preferred there is











nothing left in dividend declared to distribute dividend to preferred and











common stock








iii.
5% refers to dividend that is 5% of par value so if par value is $100, 5%











preferred dividend of $5








iv.
these cumulative preferred shares are capped









v.

at liquidation, receive par value of stock + 5% of par value + any











accumulated 5% dividends for each year that amt unpaid







b.

ex: blank check preferred








i.

details are specified at time of issuance







c.

ex: common stock







d.

ex: 100 shares of 5% cumulative preferred stock outstanding w/ par value









of 100/sh; 100 shares of common stock outstanding; yr 1 – no dividend









declared; yr 2 – no dividend declared; yr 3 – bd declares 2K dividend; who









gets what?








i.

5% of par value = $5 so 3 yrs worth of cumulative preferred dividend =











3($5) = $15/share









ii.

there are 100 shares so total cumulative preferred dividend =











(100sh)($15/sh) = $1500









iii.
total dividend to cumulative preferred SHs = 1500 leaving 2K – 1500 =











500 total dividend for common stock









iv.
$500/100 sh = $5/sh of common stock







e.

ex: 100 shares of 5% cumulative preferred stock outstanding w/ par value of








$100; 100 shares of common stock outstanding; yr 1 – no dividend declared;









yr 2 – no dividend declared; yr 3 – bd declares 1K dividend; who gets what?









i.

5% of par value = $5 so 3 yrs worth of cumulative preferred dividend =











3($5) = $15/share









ii.

there are 100 shares so total cumulative preferred dividend =











(100sh)($15/sh) = $1500









iii.
total dividend to cumulative preferred SHs = all of the 1K dividend and











$500 remaining for yr 3 cumulative dividend and no dividend for











common stock









iv.
yr 4 – bd declares 1K dividend; who gets what?











a.

2 yrs (yr 3 and yr 4) worth of cumulative preferred dividend =













2($5) = $10/sh











b.

there are 100 shares so total cumulative preferred dividend =













(100sh)($10/sh) = 1K











c.

total dividend to cumulative preferred = all of the 1K dividend











d.

bd caught up on accumulation of cumulative preferred dividend











e.

no dividend to common stock









v.

yr 5 – bd declares 1K dividend; who gets what?











a.

1 yr (yr 5) worth of cumulative preferred dividend = 1($5) = $5/sh











b.

there are 100 shares so total cumulative preferred dividend =













(100sh)($5/sh) = $500 leaving 1K – 500 = 500 total dividend for













common stock











c.

$500/100sh = $5/sh of common stock







f.

3 options when corp has earned profits:









i.

declare and pay a dividend









ii.

retain earnings









iii.
redeem stock (redemption)










a.

pro rata redemption has same economic effect as dividend



F.

Other types of securities – derivative security




1.

notional principal K







a.

K where 2 parties agree to pay each other streams of money







b.

1 of the parties is trying to hedge against a particular risk







c.

for ex: hedging against a variable interest rate on debt by agreeing to pay









other party a set amt based on the interest rate party would like to have had









fixed for debt; other party pays party amt based on whatever prevailing









variable interest rate is








i.

if variable interest rate is higher than what party wanted and is paying to











other party, party benefits









ii.

if variable interest rate is lower than what party wanted and is paying to











other party, party loses, BUT party is willing to pay to have a set











interest payment and to protect against the high variable interest rate





2.

calls (call option)






a.

holder of call option has right to buy a security at specified price for a









specified period of time






b.

price at which security will be bought if option is exercised = exercise price









or strike price of call option







c.

if stock currently trading at price higher than strike price, call option = in the









money and allows holder of the call option to make a profit by exercising the









option by buying stock at strike price and immediately selling for current









market price






d.

if stock currently trading at price lower than strike price, call option = out of









the money and doesn’t allow holder of call option to make a profit by









exercising the option









i.

BUT call option still has value cuz current stock price may rise above











strike price during period of the option






e.

ex: H holds call option giving H right to buy a share of stock of corp for








$105 w/in 90 days









i.

if stock is trading at $120/sh, H’s call option = in the money since H











could make a profit by buying stock w/in the 90 day window for only











$105/sh and immediately selling for $120 making profit of $120 - $105











= $15/sh









ii.

if stock is trading at $90/sh, H’s call option = out of the money since H











can’t make a profit by buying stock at $105/sh and immediately selling











for $90/sh





3.

warrant







a.

like a call option except that warrant is issued by issuer of underlying









security and expires after longer period of time than call option, like 5 yrs





4.

puts (put option)







a.

holder of put option has right to sell a security at a specified price for a









specified period of time







b.

price at which security will be sold if option is exercised = exercise price or









strike price of put option







c.

if stock is currently trading at price lower than strike price, put option = in









the money and allows holder of put option to make a profit by exercising









option by buying at current market price and selling at strike price






d.

if stock is currently trading at price higher than strike price, put option = out









of the money and doesn’t allow holder of put option to make a profit by









exercising the option









i.

BUT the put option still has value cuz current stock price may fall











below strike price during period of option







e.

ex: H holds put option giving H right to sell a share of stock of corp for









$105/sh w/in 90 day period of option









i.

if stock is trading at $90/sh, H’s put option = in the money since H











could make a profit by buying stock at current price of $90/sh and











exercising option to sell stock at strike price of $105/sh w/in 90 day











period making profit of $105 - $90 = $15








ii.

if stock is trading at $120/sh, H’s put option = out of the money since H











can’t make a profit by buying stock at current market price of $120 and











immediately selling for strike price of $105


G.

SH-creditor conflict





1.

the conflict:







a.

the more debt put into capital structure, less SH have to lose







b.

all SHs can lose is that which they invest and all creditors lose is amount lent







c.

when SHs invest less equity in project, SHs aren’t as concerned about risky









projects and are willing to gamble w/ creditor’s money cuz it’s not their









money and they have LL







d.

the more SHs have invested in projects, the more SHs are very concerned









about risky projects cuz it’s their money on the line







e.

in practice, creditors are going to try to pay attention to how risky projects of









business are and how risky business is before loaning out money









i.

creditors demand compensation for increased risk of default through











risky business projects





2.

equitable subordination – Deep Rock doctrine






a.

applies only in bankruptcy context and subordinates SH-creditor’s debt claim









against corp below all other creditors and places it on liquidation hierarchy









with residual (common stock) interest






b.

occurs when SH = creditor and there are facts indicating fraud by SH-









creditor abusing power as an insider









i.

this doesn’t require showing of fraud in the legal sense









ii.

at minimum, the fraud required is fraud as simple trickery, deceit









iii.
alone, undercapitalization not enough







c.

Fett Roofing









i.

ct intervenes to protect creditors’ interests as against SH-creditor and











subordinates SH-creditor’s debt interest on liquidation hierarchy from











class of unsecured general creditors to class of residual interests











(common stock)








ii.

fact-based consideration to find any abuse of power by insider SH-











creditor:










a.

F loaned money to his corp












i.

unsecured notes













ii.

demand notes giving lender right to request repayment of















principal whenever lender wants money back













iii.
not well-documented











b.

corp became insolvent










c.

F attempts to convert demand, unsecured notes into secure loans












(the abuse of power):













i.

F executed deeds of trust













ii.

F backdated deeds of trust to the time the loans were made













iii.
F transferred debt from class of unsecured creditors (on















liquidation hierarchy) to the higher class of secured creditors









iii.
being a bankruptcy case, ct has more discretion to subordinate SH-











creditor’s debt beyond terms of K ct unable to do in RJR where ct must











only look to terms of K cuz not a bankruptcy case




3.

BHs in leveraged buyouts requesting redemption






a.

RJR Nabisco








i.

ct refuses to intervene to protect creditors’ interests as against SH-











creditor and doesn’t order corp to redeem creditors’ bonds cuz creditors











could’ve protected themselves against the problem corp created










a.

debt K btwn RJR and old creditors requires RJR to pay interest and













repay principal











b.

no facts support finding that RJR has or will default











c.

differs from Fett bankruptcy case cuz in bankruptcy cases, ct may













exercise its equitable powers to provide creditors w/ relief and w/o













bankruptcy case, ct may only read the K and grant relief based on













K terms cuz ct doesn’t want to rewrite K for parties








ii.

fact-based consideration to find any abuse of power by insider SH-











creditor:











a.

before the LBO, RJR’s credit rating is really high meaning it has a













low risk of default and it can borrow at lower rates than other













lower credit rated corps










b.

LBO = buyer uses target corp’s assets to finance buyer’s purchase













of the corp causing corp to owe debt on finances used to purchase













corp










c.

after LBO, RJR is not as credit worthy meaning it has a higher risk













of default due to its greater amt of total debt and must borrow at













higher interest rates










d.

RJR’s old creditors who allowed RJR to borrow at lower rates













argue violation of implied covenant of good faith and fair dealing













cuz LBO benefited RJR SHs at old creditors’ expense













a.

old creditors only allowed RJR to borrow at lower rates cuz















RJR very credit worthy and now that SHs allowed LBO,















which got SHs lotsa money, RJR has lotsa debt causing its















credit rating to drop and risk of default to old creditors to rise















while old creditors aren’t protected against that risk of default















by higher interest rates












b.

ct rejects old creditors’ arg since they could’ve protected















themselves in their debt Ks w/ RJR through negative















covenants prohibiting RJR from acquiring anymore debt
V.

Accounting and Financial Statements



A.

GAAP = generally accepted accounting principles





1.

standards set by accounting profession governing how to treat certain financial







transaxns




2.

overarching principles:







a.

conservative standards = financial statements shouldn’t make biz look more









profitable than it actually is so they should prefer to understate biz’s income







b.

principle of matching = match items of income w/ expenses incurred to









generate that income




3.

requires accrual method of accounting = biz must account for money once it’s







owed to biz whether or not biz has received payment





4.

public corps are required to use GAAP





5.

not a set of standardized mechanical accounting rules permitting accountants to







prepare financial statements w/o having to make subjective judgments



B.

Balance Sheet





1.

shows state of affairs at 1 moment in time





2.

fundamental equation: A = L + E







a.

insolvency: L > A





3.

Asset accounts (A)






a.

everything corp has







b.

some of the A are reported at historic cost, which usually means less than









FMV of A







c.

current assets (CA)









i.

A held as cash or which can be reduced to cash w/in 12 mos.








ii.

includes:










a.

cash and demand bank deposits











b.

accounts receivable = amts owed to corp by others













i.

doubtful accounts















a.

accounts for amts owed that won’t actually get paid to

















corp















b.

reduces accounts receivable by that amt corp doesn’t

















expect to receive to account for that amt










c.

inventories












i.

terms:















a.

opening inventory = inventory corp begins w/ on 1st day

















of the fiscal year and matches preceding year’s closing

















inventory















b.

closing inventory = inventory corp ends w/ on last of

















fiscal year














c.

cost of goods sold, which is cost of inventory corp

















deemed to have sold = goods available for sale minus

















closing inventory
















i.

goods available for sale = opening inventory +



















purchases during yr















d.

operating profit from sales = gross receipts from sales

















minus cost of goods sold













ii.

valuing inventories:















a.

specific identification method = value each specific item

















of inventory and add those values together to determine

















total inventory value














b.

FIFO/LISH
















i.

first in, first out; last in still here

















ii.

if last in is still here, closing inventory value in $



















determined by last inventory acquired















c.

LIFO/FISH
















i.

last in, first out; first in still here

















ii.

if first in is still here, closing inventory value in $



















determined by first inventory acquired













iii.
consequences of inventory valuation methods:















a.

during a period of increasing inventory costs:

















i.

closing inventory is higher under FIFO than under



















LIFO cuz more expensive items (last acquired



















inventory) are still in FIFO inventory since first in



















are the items first sold

















ii.

cost of goods sold is higher under LIFO than under



















FIFO cuz cheaper items (first acquired inventory)



















remain in inventory since last in are the items first



















sold
















iii.
profit from sales is lower under LIFO than under



















FIFO cuz cost of goods sold is higher under LIFO



















than under FIFO cuz cheaper items (first acquired



















inventory) remain in inventory since last in are the



















items first sold















b.

taxes:
















i.

corp owes less tax under LIFO cuz profits from



















sales is lower making TI lower

















ii.

whatever method is used for accounting purposes



















must be used consistently for tax purposes so corp



















can’t use FIFO to show higher profits and LIFO to



















have less TI













iv.
ex: corp begins ops in yr 1; during yr 1, corp buys 3 units of















inventory at $2/unit; later in yr 1, corp buys 2 more units at















$3/unit; 3 units sold in yr 1; yr 1 revenue from sales = $15;















corp’s profit from sales for yr 1?














a.

operating profit from sales = gross receipts from sales

















minus cost of goods sold

















i.

gross receipts from sales = $15

















ii.

cost of goods sold = goods available for sale minus



















closing inventory



















a.

goods available for sale = opening inventory +





















purchases during yr





















i.

goods available for sale = opening























inventory of 0 + purchases during yr of























$12 = {[(3 units)($2)] + [(2 units)($3)]} =























$12


















b.

cost of goods sold = $12 goods available for





















sale minus closing inventory





















i.

closing inventory for yr 1 under LIFO:























a.

3 units deemed sold = last 3 units

























purchased























b.

2 units remaining in closing

























inventory = first 2 units purchased =

























$2 + $2 = $4





















ii.

cost of goods sold under LIFO = $12























goods available for sale minus $4 closing























inventory = $8 cost of goods sold





















iii.
closing inventory for yr 1 under FIFO:






















a.

3 units deemed sold = first 3 units

























purchased























b.

2 units remaining in closing

























inventory = last 2 units purchased =

























$3 + $3 = $6





















iv.
cost of goods sold under FIFO = $12























goods available for sale minus $6 closing























inventory = $6 cost of goods sold

















iii.
operating profit from sales under LIFO = $15 gross



















receipts from sales minus $8 cost of goods sold =



















$7 operating profit from sales under LIFO
















iv.
operating profit from sales under FIFO = $15 gross



















receipts from sales minus $6 cost of goods sold =



















$9 operating profit from sales under FIFO











d.

prepaid expenses should be listed on A side of balance sheet






d.

fixed assets








i.

assets not held for sale, but for operation








ii.

includes:










a.

land













i.

$ value shown for the land is the land’s historic cost instead of















FMV











b.

buildings










c.

machinery











d.

office equipment









iii.
accumulated depreciation subtracted on balance sheet










a.

accounts for realistic value of depreciable propty that wears out













and loses value over time










b.

on income statement, depreciation value shown is the amt of













depreciation taken for that current year on depreciable propty










c.

valuing depreciation













i.

straight line depreciation = take aggregate cost divided by # of















years of useful life such that depreciation deductions are the















same every year












ii.

accelerated depreciation = greater depreciation deduction in















earlier years than in later years





4.

Liability accounts (L)






a.

all debts owed by biz to others







b.

current liabilities (CL) = liability that comes due w/in next 12 mos.







c.

long-term liabilities = liability that won’t come due w/in next 12 mos.






d.

issue of when corp must disclose liabilities









i.

threat of litigation may not need to be disclosed, but filing of suit











against biz should be disclosed in FN at least





5.

SH’s Equity accounts (E)






a.

residual claims of SHs






b.

book value of E may not be the true E value







c.

stock =








i.

paid in capital = amt SHs contributed to corp in exchange for their stock











a.

2 capital accounts:













i.

stated capital = par value of stock times the # of outstanding















shares (PN)













ii.

capital surplus = total SH contribution for stock minus stated















capital








ii.

retained earnings = earnings of corp since corp’s inception minus all











dividends paid


C.

Income Statement





1.

connects each year’s balance sheet w/ preceding and subsequent balance sheets


D.

analyzing balancing sheet and income statement





1.

profit







a.

profits per $ of net sales = operating profit divided by net sales








i.

ex: yr 1 profits per $ of net sales = $765K operating profits / $7 million











net sales = 10.9%









ii.

ex: yr 2 profits per $ of net sales = $920K operating profit / $7,500,000











net sales = 12.3%









iii.
if profits increased in % terms, consider whether increased profitability











resulted from reduction in COGS (costs) as percentage of net sales:







b.

COGS (cost of goods sold) as a % of net sales = COGS divided by net sales








i.

ex: yr 2 COGS as a % of net sales = $4,980,000 COGS / $7,500,000 net











sales = 66%









ii.

ex: yr 1 COGS as a % of net sales = $4,650,000 COGS / $7 million net











sales = 66%






c.

return on E = net income divided by SH’s E








i.

net income is on the income statement









ii.

SH’s E = SH’s equity from balance sheet dated last day of previous yr









iii.
return on E = $390K net income / 1,120,000 SH’s E = 34.8%




2.

liquidity







a.

working capital = $ amt of CA minus $ amt of CL









i.

to see if corp has sufficient CA to cover CL








ii.

ex: $2,880,000 CA - $ 1,750,000 CL = $1,130,000 working capital






b.

current ratio = CA divided by CL









i.

corp should have at least a 1:1 ratio









ii.

less than 1:1 ration means corp doesn’t have enough in cash or cash











equivalent of CA to cover its CL








iii.
ex: $2,880,000 CA / $1,750,000 CL = 1.65, which means 1.65:1 and











there’s enough current assets to cover current liabilities






c.

quick ratio/acid test ratio









i.

[CA – (inventory + prepaid expenses)] / CL








ii.

shows whether biz would have enough cash or cash equivalent in CA to











pay CL if biz didn’t sell any inventory









iii.
# of 1 or higher means biz has enough cash or cash equivalent in CA to











pay CL if biz doesn’t sell any inventory








iv.
ex: [$2,880,000 – ($1,310,000 + $40K)] / $1,750,000 =











$1,530,000/$1,750,000 = .8743 meaning corp doesn’t have enough cash











or cash equivalent in CA to pay CL w/o selling some inventory




3.

Qs to ask when thinking about acquiring biz:






a.

any goodwill of biz not reflected on balance sheet?









i.

goodwill is reflected on the buying biz’s balance sheet when buying biz











purchases it









ii.

goodwill is not reflected on biz’s balance sheet when biz creates the











goodwill itself









iii.
goodwill represents value of biz reflected on balance sheet + intangible











A









iv.
goodwill biz didn’t buy not reflected on balance sheet







b.

accounting principles









i.

what accounting principles are used?









ii.

are the accounting principles used consistently?







c.

depreciation









i.

what kind of depreciation is taken?









ii.

what depreciation method is used?







d.

what inventory accounting method is used to value closing inventory?







e.

what is the competition like?









i.

trends in the industry









ii.

what’s the biz’s market share?







f.

contingent liabilities









i.

are there any lawsuits pending or filed or threatened against biz?









ii.

CERCLA liability?









iii.
personnel problems







g.

does biz have any intangibles?









i.

patents, trademarks







h.

info about the customer base









i.

who is principal buyer









ii.

financial security of customer base







i.

info about suppliers of inventory, capital, credit






j.

info about sellers of the biz









i.

why are they selling instead of passing biz on in family?









ii.

relationship btwn sellers of biz and customer base









iii.
relationship btwn sellers of biz and employees








iv.
would it be beneficial to have sellers of biz stick around as consultants











to facilitate transition?








v.

what are sellers doing in retirement?









vi.
what form of compensation are sellers looking for?







k.

what has happened since close of last financial statement?







l.

is biz/industry heavily regulated by govt?







m.
what form of risk-management strategy have sellers created (notional









principal Ks?)

VI.
Valuation of Biz



A.

Valuation methods





1.

salvage value







a.

when A no longer productive, value A could bring in at the end when









disposing of it







b.

ex: apple tree no longer produces apples, salvage value is value owner can









get for apple tree in form of firewood







c.

problem:









i.

ignores income earning potential = it doesn’t take into consideration the











A will produce income for years before it becomes unproductive





2.

one year’s income






a.

problem:









i.

ignores future income earning capacity





3.

accumulated gross revenue






a.

figuring out how many years in future the A will produce income times









income per year







b.

problem:









i.

ignores cost of earning the income cuz it’s gross revenue instead of net











revenue









ii.

ignores time value of money











a.

calculating present value (PV) and future value (FV)













i.

PV = [FV/(1 + r)n]












ii.

FV = PV(1 + r)n












iii.
if looking for what PV of certain amt of payment every year















for multiple years do separate equations for each year and add















up all of the answers and add in salvage value

ex: FV in 2 yrs

PV = 100; r = 10%; n = 2

FV = PV(1 + r)n
FV = 100(1 + .10)2
FV = 100(1.1) 2
FV = 100(1.21)

FV = 121

n = # of periods, not necessarily annual, but if period other than annual, change n as percentage of the yr and % for r accordingly

-semi annual compounding interest


-n = 4 periods; r = (.10/2) = 5%

which is more: 1500 in 15 yrs OR 100/yr for 15 yrs? assume 10% interest

1500 in 15 yrs:


-PV = [FV/(1 + r)n] = [1500/(1 + .10)15] = (1500/4.18) = 359

100/yr for 15 yrs


-yr 1 = [100/(1 + .10)1] = 90.91


+


-yr 2 = [100/(1 + .10) 2] = 82.64


+


-yr 3 = [100/(1 + .10) 3] = 75.19


+ … = 761.00










b.

types of interest:













i.

simple interest = interest returning the same payment every















year













ii.

compounding interest = interest returning different payment















each year such that amt of interest paid in $ goes up every















year cuz fixed interest rate is applied to an ever-increasing















principal




4.

market price







a.

problem:









i.

there isn’t much of a market for a certain A such that no market exists











to indicate a value for A









ii.

even where there is a market to value A, buyer doesn’t have to accept











market price blindly w/o negotiation





5.

book value







a.

value based on whatever seller originally paid for the A







b.

problem:








i.

undervalues the A cuz book value of A is based on historic value of A











and book value doesn’t take inflation into account




6.

capitalization of earnings







a.

value of biz = earnings divided by capitalization rate OR earnings times









multiplier








i.

capitalization rate











a.

determined by what rate of return investor is looking for as return













on investment of capital










b.

compare other businesses and investments deemed comparable











c.

w/ a risky biz, buyer is looking for higher return on investment to













compensate buyer for taking the risk and to have a higher return on













investment, capitalization rate goes up so value of biz goes down










d.

buyer of biz will argue for higher capitalization rate than seller so













buyer pays less










e.

riskier the biz, higher capitalization rate is for biz








ii.

earnings











a.

average earnings from income statement minus extraordinary items













from operating income








iii.
multiplier is a conversion of the capitalization rate











a.

ex: capitalization rate of 10% = 1/.10 = 10









iv.
ex: value of biz of $225 = (45 earnings/.20 capitalization rate) OR value











of biz of $225 = (45 earnings)(5 multiplier)





7.

discounted cash flow







a.

based on the net of how much cash biz will produce each year = sales minus









costs







b.

need years of production, cash flows for each year (sales minus costs), rate at









which cash flows are discounted (discount rate)









i.

discount rate











a.

like capitalization rate in that determined by rate of return investor













is looking for as return on investment of capital










b.

determined like an interest rate: riskless rate of return +













compensation for risk of default










c.

w/ risky biz, buyer looking for high return on investment to













compensate buyer for taking risk and to have a higher return on













investment, discount rate goes up so value of biz goes down and













buyer pays less






c.

compute PV for cash flow for each year and add all PVs together

PV = FV/(1 + r)n
FV = ea. yr’s cash flows (sales – costs)

n = yrs of production

r = discount rate




8.

Ala. By-products






a.

P-SH attempting to convince ct biz has certain value so that P will get more









in return for shares as a result of merger






b.

ct must value biz









i.

capitalization of earnings











a.

to determine capitalization rate, ct is comparing biz to comparable













biz in industry and Qing whether bizs are really comparable









ii.

discount cash flow










a.

discount rate













i.

riskless rate of return + compensation for risk of default









iii.
net asset value










a.

used by ct cuz ct acknowledged there are valuable assets not













generating cash flows

VII.
Legal Capital



A.

concept of legal capital





1.

intro







a.

w/ possibility of penny par stock, legal capital rules provide little protection









for corp’s creditors







b.

to protect creditors by controlling distribution amts corp can make






c.

to protect other SHs by ensuring stock paid by SH is adequate consideration









for stock and that type of consideration paid for stock is valid






d.

is stock duly authorized, validly issued, assessable









i.

duly authorized = stock created in accordance w/ underlying corporate











law and in accordance w/ corp’s certificate of incorporation









ii.

validly issued = shares have been issued in compliance w/ charter and











bylaws of corp








iii.
assessable = consideration is valid and total consideration is paid





2.

capital accounts and par value







a.

capital accounts









i.

stated capital = par value times # of shares issued









ii.

surplus











a.

capital surplus/paid in capital = total consideration received for













stock issued minus stated capital











b.

earned surplus/retained earnings = earnings of biz since inception













minus all distributions made by biz






b.

evolution of par value









i.

originally par value = total consideration paid for stock









ii.

today, par value = minimum consideration corp willing to accept for











stock issued






c.

Del. provisions








i.

capital accounts – Del. 154










a.

stated capital = par value times # of shares issued











b.

if shares issued w/o par value stated by bd, bd must be sure to













determine how much of consideration received for stock issued













represents par value for stated capital account cuz if bd fails to













determine how much of the consideration received gets allocated













to stated capital and capital surplus accounts, all of consideration













received automatically goes to stated capital and w/o anything in













capital surplus account, bd can’t make any distributions











c.

surplus = capital surplus + earned surplus









ii.

minimum payment for shares – Del. 153(a) and (b)










a.

par value = minimum consideration corp will accept for stock













issued











b.

where no par value is stated, absent showing of fraud by bd, bd













determines what qualifies as adequate consideration









iii.
acceptable consideration for shares – Del. 152










a.

Del. 152 – when SHs pay noncash consideration for stock, absent













showing of fraud by bd, bd determines whether consideration is













adequate










b.

Del. 152 – permitted consideration for shares:













i.

cash, personal propty, real propty, leases of propty, past















services rendered













ii.

NOT promise to perform future services













iii.
bd can issue stock for downpayment w/ promise to pay rest of















consideration through promissory note















a.

downpayment must at least equal par value of stock

















times # of shares issued










c.

Del. 162 – assessability of stock = when SH can be liable for













money SH hasn’t yet paid into corp












i.

if SH hasn’t paid full subscription price for stock, SH can be















liable for remainder of consideration promised












ii.

but assessability only occurs when corp’s A insufficient to















pay creditors



B.

Restrictions on Dividends





1.

legal capital restrictions on dividends and stock repurchases






a.

Del. provisions









i.

Del. 170 – to determine whether lawful dividend distributed










a.

dirs may distribute dividend either:












i.

out of surplus (capital surplus + earned surplus)












OR












ii.

where there’s no surplus, out of its net profits for fiscal year















in which dividend declared and/or year preceding year















dividend declared (nimble dividend rule)








ii.

Del. 160 – to determine whether lawful redemption occurred











a.

corp can’t purchase or redeem its own stock if capital of corp is













impaired or will be made impaired













i.

capital is impaired if there’s less in SH’s E account than in















stated capital account
iii.
ex: $10 par; corp borrowed 25K; corp lost 10K from biz ops; 500 shares











a.

before biz loss: A = 75K; L = 25K; stated capital = 5K; capital













surplus = 45K











b.

after biz loss: A = 65K; L = 25K; stated capital = 5K; capital













surplus = 45K; earned surplus = -10K










c.

under Del. law, bd can lawfully pay 35K as dividend or stock













repurchase cuz dividend allowed = capital surplus + earned surplus













= 45K + -10K











d.

after 35K dividend or stock repurchase: A = 30K; L = 25K; stated













capital = 5K; capital surplus = 10K; earned surplus = -10K











e.

any amt of dividend beyond 35K = illegal dividend




2.

other restrictions on dividends







a.

earned surplus test – Cal. 500(a)








i.

allows distribution out of retained earnings only






b.

insolvency tests – MBCA 6.40(c)








i.

equity insolvency test = if corp not able to pay debts as they come due,











corp can’t make distribution









ii.

balance sheet test = if L + preferred SH accounts > A, corp can’t make











distribution




3.

nimble dividend statutes







a.

corp might not be able to make lawful distribution under general distribution









statutes, but corp has been profitable in last few years







b.

Del. 170(a)(2)








i.

only used when corp lacks surplus to make normal distribution









ii.

where there’s no surplus, bd can still make a distribution out of net











profits for fiscal year in which dividend paid and/or preceding fiscal











year, BUT only to extent of the amt of the net profits








iii.
net profits yr 2 = 2K, net profits yr 3 = 3K; distribution allowed at end











of yr 3 = 2K + 3K







c.

Cal. 500(b)








i.

only used when corp lacks retained earnings to make normal










distribution








ii.

w/o positive retained earnings, corp can’t make distribution UNLESS










corp can satisfy both (1) and (2) after distribution made (this means, the











amt of distribution corp may make is the lesser of (1) and (2) in order to











satisfy both:










a.

(b)(1) total A > or = to 1.25 times total L












i.

amt of distribution = total A minus 1.25 times total L










AND











b.

(b)(2)













i.

IF average earnings (before interest) for 2 preceding years >















or = to average interest expense for 2 preceding years THEN















current A must be > than or = to current L















a.

amt of distribution = current A minus current L













OR













ii.

IF average earnings (before interest) for 2 preceding years <















average interest for 2 preceding years THEN current A must















be > or = to 1.25 times current L














a.

amt of distribution = current A minus 1.25 times current

















L










c.

terminology used:













i.

average interest = average of amt due on debt as interest















payment each year












ii.

interest and earnings from income statement












iii.
A and L from balance sheet











d.

ex: par value = 100/sh; 5K shares outstanding (from balance













sheet); stated capital = (100/sh)(5K shares) = 500K; amt received













as payment for shares by SHs = 500K (from balance sheet)













retained earnings = 100K (from balance sheet); Del. 170(a)












applies to determine lawful dividend












i.

surplus out of which dividend can be lawfully paid = capital















surplus + retained earnings













ii.

capital surplus = total amt received as payment for shares by















SHs minus stated capital = 500K – 500K = 0












iii.
surplus = 0 + 100K = 100K












iv.
lawful dividend up to 100K











e.

ex: par value = 1/sh; 5K shares outstanding (from balance sheet);













stated capital = (1/sh)(5K shares) = 5K; amt received as payment













for shares by SHs = 500K (from balance sheet); retained earnings













= 100K (from balance sheet); Del. 170(a) applies to determine













lawful dividend












i.

surplus out of which dividend can be lawfully paid = capital















surplus + retained earnings













ii.

capital surplus = total amt received as payment for shares by















SHs – state capital = 500K – 5K = 495K













iii.
surplus = 495K + 100K = 595K













iv.
lawful dividend up to 595K











f.

ex: retained earnings = 100K (from balance sheet); Cal. 500(a)













applies to determine lawful dividend













i.

lawful dividend up to amt of retained earnings = 100K















regardless of par value of stock, stated capital, or capital















surplus











g.

ex: retained earnings = 0 (from balance sheet); Cal 500(b) applies













to determine lawful dividend












i.

w/o nimble dividend rule, clear no dividend allowed cuz















retained earnings = 0













ii.

to allow a dividend under 500(b), must satisfy both (1) and (2)












iii.
(1): total A must be > or = 1.25 times total L AFTER















dividend paid (taking into account dividend payment)














a.

total A = 7 million (from balance sheet) – 100K

















(dividend to be paid) = 6,900,000














b.

total L = 6,400,000















c.

1.25(6,400,000) = 8 million















d.

total A isn’t > or = to 1.25 time total L so no dividend

















under nimble dividend rule 











h.

ex: current A = 3 million; total A = 9 million; current L =













2,500,000; total L = 6,400,000; retained earnings = 0; Cal. 500(b)













applies to determine lawful dividend (values from balance sheet)












i.

w/o nimble dividend rule, clear no dividend allowed cuz















retained earnings = 0













ii.

to allow a dividend under 500(b), must satisfy both (1) and (2)













iii.
(1): total A must be > or = to 1.25 total L AFTER dividend















paid (taking into account the dividend payment)















a.

1.25 times total L = 1.25 (6,400,000) = 8 million















b.

total A of 9 million > 8 million















c.

dividend amt allowed under (1) = total A – 1.25 times

















total L = 9 million – 8 million = 1 million













iv.
(2): conditions















a.

IF corp’s annual average earnings (before interest and

















taxes) for 2 preceding yrs < average interest expense for

















2 preceding yrs THEN dividend paid ONLY IF corp’s

















current A > or = 1.25 times corp’s current L

















i.

average annual earnings = 500K

















ii.

average interest expense = 450K

















iii.
average annual earnings of 500K > average interest



















expense of 450K so condition 2 applies















OR














b.

IF corp’s average annual earnings (before interest and

















taxes) for 2 preceding yrs > or = to average interest

















expense for 2 preceding yrs THEN dividend ONLY IF

















corp’s current A > or = corp’s current L

















i.

average annual earnings = 500K

















ii.

average interest expense = 450K

















iii.
average annual earnings of 500K > average interest



















expense of 450K so this condition applies

















iv.
corp’s current A must be > or = corp’s current L for



















any dividend



















a.

current A of 3 million > current L of 2,500,00



















b.

dividend amt allowed under (2) = current A –





















current L = 3 million – 2,500,000 = 500K













v.

how (1) and (2) work together: both must be satisfied so















dividend amt allowed is the lesser of the 2 amts under (1)















and (2)















a.

dividend allowed under (1) = 1 million














b.

dividend allowed under (2) = 500K















c.

divided amt allowed under Cal. 500(b) = 100K











i.

ex: current A = 3 million; total A = 9 million; current L =













2,500,000; total L = 6,400,000; retained earnings = 0; Cal. 500(b)













applies to determine lawful dividend (values from balance sheet)













i.

w/o nimble dividend rule, clear no dividend allowed cuz















retained earnings = 0













ii.

to allow a dividend under 500(b), must satisfy both (1) and (2)













iii.
(1): total A must be > or = to 1.25 total L AFTER dividend















paid (taking into account the dividend payment)















a.

1.25 times total L = 1.25 (6,400,000) = 8 million















b.

total A of 9 million > 8 million















c.

dividend amt allowed under (1) = total A – 1.25 times

















total L = 9 million – 8 million = 1 million













iv.
(2): conditions















a.

IF corp’s annual average earnings (before interest and

















taxes) for 2 preceding yrs < average interest expense for

















2 preceding yrs THEN dividend paid ONLY IF corp’s

















current A > or = 1.25 times corp’s current L

















i.

average annual earnings = 450K

















ii.

average interest expense = 500K

















iii.
average annual earnings of 450K < average interest



















expense of 500K so this condition applies
















iv.
corp’s current A must be > or = 1.25 times corp’s



















current L for any dividend



















a.

1.25 current L = 1.25 (2,500,000) = 3,125,000


















b.

current A of 3 million are < 3,125,000 so no





















dividend allowed under (2)














OR














b.

IF corp’s average annual earnings (before interest and

















taxes) for 2 preceding yrs > or = to average interest

















expense for 2 preceding yrs THEN dividend ONLY IF

















corp’s current A > or = corp’s current L

















i.

average annual earnings = 450K

















ii.

average interest expense = 500K
















iii.
average annual earnings of 450K < average interest



















expense of 500K so 1st condition applies













v.

how (1) and (2) work together: both must be satisfied so















dividend amt allowed is the lesser of the 2 amts under (1)















and (2)















a.

dividend allowed under (1) = 100K















b.

dividend allowed under (2) = 0















c.

divided amt allowed under Cal. 500(b) = 0





4.

personal liability of dirs for unlawful distributions = penalty for violation of legal







capital rules






a.

if dirs have declared and paid an unlawful distribution, dirs are personally









liable for amt unlawfully distributed






b.

Del. 174









i.

dirs are jointly and severally liable to corp or its creditors for amt










unlawfully OR negligently distributed under 170 as dividend or stock











redemption









ii.

dirs not present at meeting where unlawful distribution declared and











paid OR dirs who dissented from distribution of unlawful distribution










may be exonerated from personal liability if immediately that dir enters











his dissent in minutes of meeting where unlawful axn was taken








iii.
creditor can sue all dirs or 1 dir and get all of them cuz of joint and











several liability








iv.
generally, dirs can’t go after SHs for indemnity UNLESS dirs meet the











exception:











a.

dir must have ev to establish SH received distribution w/













knowledge distribution unlawfully paid






c.

to determine illegality or negligence of dirs consider whether the procedure









used = good (as used w/ biz judgment rule)



C.

Fraudulent Conveyance





1.

a successful claim gets back the asset that was transferred by unwinding the







transaxn




2.

requires ct to consider particular transaxn either:







a.

under fed bankruptcy law









i.

allows trustee in bankruptcy to void a transfer made w/in 1 year of the











bankruptcy filing if the transfer is fraudulent under standards equivalent











to Uniform Fraudulent Conveyance Act










a.

intent to defraud through:












i.

transfer w/ actual intent to defraud













OR












ii.

transfer constructively defrauded creditors:














a.

transfer away from debtor















AND















b.

w/o receiving equivalent value















AND















c.

either:
















i.

debtor’s assets remaining after transfer were



















unreasonably small in relation to biz

















OR

















ii.

debtor intended to, believed, or should’ve believed



















debtor would incur debts beyond debtor’s ability to



















pay debts as they became due






OR







b.

under state law

VIII.
Corporate Governance: Dirs’ and Offs’ authority


A.

Officers: Sources of authority





1.

run biz day to day




2.

to find power delegated to officers:







a.

state corporate law statutes







b.

bylaws






c.

corporate resolutions





3.

agency principles determining scope of officers’ authority to act on behalf of corp







a.

agency relationship confers on agents the power to create rights in









principal’s favor and to subject principal to liability to 3rd parties







b.

sources or types of authority (reasons why principal would be bound by









agent:









i.

actual authority










a.

there’s an understanding or communication btwn principal and













agent w/ respect to scope of agent’s authority











b.

express actual authority













i.

stated, written












ii.

for ev looking for express statement by bd agent has authority















to act for principal:















a.

bylaws














b.

minutes of bd meetings recording corporate resolutions

















granting power to an officer to engage in a particular

















type of conduct














c.

certificate of incorp











c.

implied actual authority













i.

conduct, context of relationship












ii.

for ev looking for facts about relationship btwn principal and















agent:














a.

title of agent

















i.

for ex, there are certain duties that go along w/



















being pres

















ii.

pres or chief operating officer have authority to



















enter into transaxns in ordinary course of biz but not



















to enter extraordinary transaxns















b.

agent’s place in corporate hierarchy based on

















organizational structure of biz















c.

to whom does officer report?















d.

course of dealings of corp and conduct of bd

















i.

did agent have authority to enter into similar axns in



















the past?
















ii.

does past practice indicate agent had authority to



















act?








ii.

apparent authority











a.

not created by dealings btwn principal and agent










b.

determined by relationship btwn principal and 3rd party











c.

authority derived from reasonable interpretation of 3rd party based













on axns or words of principal leading 3rd party to believe principal













has granted agent authority










d.

agent can’t create the authority so agent can’t go up to 3rd party













and say agent has authority to create authority










e.

for ev looking for facts about relationship btwn principal and 3rd












party:













i.

whether corp led 3rd party to believe agent had authority to act















for principal













ii.

general rule where agent acting = pres: pres can bind co in















regular course of biz of corp, but pres can’t bind co to Ks of















extraordinary nature















a.

fact-specific analysis to determine whether ordinary

















course of biz or extraordinary

















i.

ordinary = officers have authority to hire and fire



















emp/ees and to determine what their compensation



















is

















ii.

extraordinary = life-time employment Ks (Ks



















binding corp in perpetuity to 3rd party) or K so



















important to corp that 3rd party would reasonably



















believe only bd could enter it (sale of biz,



















dissolution, merger) or any transaxn requiring SH



















approval








iii.
inherent authority











a.

very similar to implied actual authority










b.

if purported agent is acting in way consistent w/ what we would













expect to be scope of his authority, then there’s a penumbra of













agency that binds the principal










c.

ask whether it would make sense to bind principal by holding













officer liable for this type of conduct











d.

for ev:












i.

title of agent















a.

for ex, there are certain duties that go along w/

















being pres











e.

public policy:













i.

to prevent principals from taking advantage of 3rd parties by















having agent enter into K and then when K turns out to be bad















for principal, principal pulls out of K arguing agent didn’t















have authority to bind principal to K












ii.

efficiency requires that officers be able to carry out their















assigned functions and don’t want officers having to go to bd















seeking authority all the time











f.

ex: respondeat superior









iv.
ratification or estoppel











a.

agent does not have authority to act for principal at time agent













entered into transaxn for principal










b.

ratification = principal implicitly ratifies agent’s axns if principal













accepts benefits of agent’s unauthorized conduct











c.

estoppel = when purported agent acts w/o authority and principal













fails to repudiate immediately the agent’s act as being beyond the













scope of the agent’s authority, the principal may be estopped from













later repudiating purported agent’s conduct












i.

consider whether principal is just trying to get out of K by















alleging agent lacked authority







c.

burden of proof









i.

corp bd/principal must show officer/agent lacked authority to perform











acts normally w/in course of biz of corp on behalf of corp/principal










a.

where officer/agent = pres or high officer, officer/agent generally













presumed to have authority to perform acts normally w/in course













of biz of corp









ii.

3rd party must show officer/agent had authority to act on behalf of and











bind corp/principal where axn by officer/agent is outside normal course











of biz of corp







d.

Lee v. Jenkins Bros.








i.

Y = corp pres; promised to pay pension benefits to L = corp employee








ii.

whether Y had authority to enter into agreement on behalf of corp











binding it to provide benefits to L







e.

Scientific Holding Co. v. Plessey








i.

corp already negotiated its sale; at closing, corp couldn’t meet financial











conditions so K amended; corp’s pres and COO signed amm on behalf











of corp w/o authorization expressing doubts as to his authority to do so;











corp repudiates amm and K








ii.

whether pres/COO had authority to bind corp to K as amended









iii.
bd resolution = proper officers of corp have authority to make changes











to agreement that in opinion of dirs shall be necessary and appropriate



B.

Dirs





1.

sources of authority







a.

Del. 141(a) – bd manages corp









i.

elects officers









ii.

declares dividends









iii.
decides when to issue stock already authorized in certificate of incorp









iv.
make 1st part of decision for major changes in corporate structure









v.

usually granted power to adopt and amend bylaws tho default Del. rule











grants this authority only to SHs





2.

procedural rules for bd meetings – Del. 141(b)






a.

dirs act by holding meetings and bd must act only as a unit







b.

quorum = # of dirs needed at meeting to conduct biz at meeting








i.

physically present or on the phone









ii.

default rule requires a majority of the bd be present







c.

voting – how many dirs must vote in favor of proposed axn to be approved









i.

default rule requires majority of dirs present for axn to be approved









ii.

no voting by proxy









iii.
exception where bd can act w/o a meeting = where there’s unanimous











written consent of dirs





3.

committees – Del. 141(c)






a.

allows for delegation of bd authority to committees where committee may









act on behalf of bd







b.

committees cannot authorize fundamental corp transaxns thru their power









delegated from bd (sale of assets, merger, amend bylaws, amend certificate









of incorp)







c.

to form a committee, majority of entire bd must authorize its creation;









majority of quorum is insufficient to form a committee






d.

corps listed on NYSE must have audit committee









i.

members of audit committee must be independent









ii.

a financial specialist must be on the committee









iii.
has responsibility for spotting financial problems before they occur








iv.
oversees flow of financial info to investors






e.

compensation committee









i.

officers can’t be on this committee








ii.

determine salaries of dirs and officers







f.

nominating committee









i.

selects slate of nominees running in election for bd positions







g.

bd can create special committees to deal w/ special problems lasting









temporarily





4.

election of dirs







a.

SHs elect and remove dirs







b.

for SH to nominate ind to be dir other than those nominees selected by









nominating committee, SH must mount proxy contest






c.

staggered bd – Del. § 141(d)








i.

different dir spots up for election each year








ii.

there can be up to 3 classes of dirs and w/ 3 classes, dirs would hold











office for 3 years








iii.
to have such a bd, SHs must include a provision in the certificate of











incorp, initial bylaws, or in amendment to bylaw adopted by SHs










a.

location of staggered bd provision matters:













i.

in bylaws – if takeover artist buys up enough shares, he can















initiate a SH amm to bylaws to eliminate staggered bd















provision, making it easier to take over corp












ii.

in cert of incorp – SHs can’t amend cert w/o bd approval, so















takeover artist would need enough shares to gain control of















bd, which is more shares than would be needed to initiate SH















amm to bylaws








iv.
used as an anti-takeover device cuz takeover artist can only take control











of only part of bd at a time







d.

class-designated bd – Del. § 141(d)








i.

w/ different classes of stock, each class elects its own set of dirs for bd








ii.

increases power of minority SHs who are able to elect dirs







e.

bd may be both staggered and class-designated or either







f.

straight voting









i.

every voting share of stock has a vote









ii.

# of shares are counted to determine who won election








iii.
for each dir spot, each SH casts # of votes SH possesses









iv.
result: SH w/ majority of shares will win every dir spot election and











have complete control of bd w/ no bd rep for minority SH







g.

cumulative voting









i.

SHs don’t cast votes for each dir spot separately so that SH has his full











# of shares available for each spot; instead, SH must spread his shares











for each dir SH wants elected








ii.

result: increases power of minority SHs who have a better chance of











electing dirs









iii.
# sh needed = [(#dirs wants x total sh)/(total dirs to be elected + 1)] +











some fraction or 1








iv.
ex: A = 51 shares times 5 (dir spots up for election) = 255 votes; B = 49











shares) times 5 (dir spots up for election) = 245 votes; 100 total shares =











A has 51 sh + B has 49 sh










a.

if A divides his votes equally among 5 dir spots open and B













divides his votes equally only among 4 out of 5 of dir spots open,













A casts 51 votes for 5 and B casts 61 votes for 4 and 0 votes for 1













resulting in B controlling 4 dirs and A controlling on 1 even tho A













is a majority SH











b.

if A wants to elect 3 dirs, A needs more than 50 shares; A has 51













shares:












i.

# sh needed = [(3 dirs wanted x 100 shares)/(5 dirs to be















elected + 1)] + some fraction or 1












ii.

NS needed = 300/6+ = 50+











c.

if B wants to elect 2 dirs, B needs more than 33 1/3 shares:













i.

# sh needed = [(2 dirs wanted x 100 shares)/(5 dirs to be















elected + 1)] + some fraction or 1













ii.

# sh needed = 200/6+ = 33.33+







h.

Del. statutes









i.

Del. 216 – plurality of votes cast at meeting sufficient to elect dirs









ii.

Del. 214 – default rule = straight voting, BUT SHs may opt out of











straight voting for cumulative voting











a.

cf. Cal. 708(a) – default rule = cumulative voting, BUT SHs may













opt out of cumulative voting for straight voting




5.

removal of dirs







a.

Del. 141(k) – dirs can be removed by majority of SHs w/ or w/o cause








i.

exceptions:











a.

w/ a class-designated bd, dirs can only be removed for cause











b.

w/ cumulative voting, if the total # of votes against removal of a













dir would be enough to elect that dir through cumulative voting,













then dir can be removed only for cause





6.

filling vacancies on the bd







a.

Del. § 223 – default rules that corp can draft around








i.

vacancies and new directorships filled by dirs remaining in office even











if less than a quorum remains









ii.

for class-designated bds, vacancies are filled by dirs remaining who











were elected by the same class as the vacant dir spot









iii.
if dir resigns effective on a future date, that dir, along w/ remaining dirs











decide who fills resigning dir’s spot








iv.
if less than majority of bd remains and SHs w/ at least 10% of voting











power request, ct of chancery can order election of dirs by SHs

IX.
SHs in scheme of corporate governance: state reg



A.

Intro





1.

SHs elect and remove dirs NOT officers





2.

2 sets of rules:







a.

substantive state regs









i.

grants SHs specific rights:










a.

elect dirs











b.

remove dirs











c.

vote on fundamental corporate transaxns – amms to cert of incorp,













merger, sale of substantially all assets of biz, dissolution of corp











d.

right of inspection







b.

procedural fed proxy rules



B.

SHs’ right of inspection





1.

reqs under state statutes







a.

eligibility reqs for SHs to be able to inspect









i.

right of inspection only available to SHs of record so that SHs holding











share in nominee accounts lack a right of inspection









ii.

SHs may be required to hold stock for specific periods of time









iii.
SHs may be required to hold minimum amount of stock





2.

more on “proper purpose” requirement – SH required to have a proper purpose to







have a right to inspect






a.

Pillsbury









i.

SH bought so many corp shares to gain control of bd so as to change











corp social policy – SH didn’t want corp to manu bombs; SH makes











request for inspection








ii.

proper purpose requires a SH’s concern for investment return:










a.

SH wants to evaluate his investment










OR











b.

SH wants to communicate w/ other SHs in their capacity as













investors as opposed to SHs in their capacity as socially conscious













inds










c.

NOT:













i.

SH seeking personal benefit













ii.

SH pursuing social policy goals









iii.
moral of the case: SH shouldn’t state his ultimate goal = social policy











reform and should frame his ultimate goal as maximizing profit







b.

Conservative Caucus v. Chevron









i.

SH terms purpose of request for inspection in terms of corp’s











profitability tho SH really had a moral objection to corp’s policy








ii.

request for inspection granted even tho profit purpose framed to hide











real purpose









iii.
moral of case: SH must connect a social policy goal to SH profit or else











SH’s request for inspection will be rejected







c.

proper purpose does NOT include pursuit of social policy goals


C.

SHs’ power to initiate axn





1.

SHs’ meetings: procedural concerns







a.

calling a meeting









i.

2 types of meetings:










a.

annual meetings













i.

held once a year













ii.

regularly scheduled













iii.
date fixed in corp bylaws











b.

special meetings of SHs













i.

not regularly scheduled













ii.

Del. § 211(d) – may be called by bd of dirs or other specified















in bylaws or cert of incorp













iii.
some states allow SHs holding certain # of shares or bd to call













iv.
cert of incorp or bylaws specify under what circs may be















called







b.

notice









i.

written notice required to SHs of record as of record date








ii.

let SHs know they need to vote









iii.
bd of dirs needs to set a record date – date looked at to determine who











are SHs of corp for purposes of the notice req and voting









iv.
written notice of SHs’ meeting to SHs of record as of record date







c.

quorum









i.

to take axn at SH meeting, quorum of voting shares must be represented











at the meeting










a.

represented = physically present or by proxy









ii.

based on # of voting shares and not based on # of SHs









iii.
Del. § 216 – quorum = majority of voting shares, BUT cert of incorp or











bylaws may require less than a majority of voting shares tho quorum











can never be met by less than 1/3 of voting shares






d.

SH axn by written consent in lieu of a meeting – Del. § 228(a)








i.

consents must be signed by at least # of SHs representing minimum # of











shares that would’ve been required for axn at SH meeting if all voting











shares were present and voting









ii.

some states require unanimous written consent for SH axn w/o a











meeting





2.

what axns can SHs initiate?







a.

Auer v. Dressel








i.

class-designated bd; majority of class A SHs request bd to call a special











meeting of SHs cuz under law, only bd can call the special meeting









ii.

if purposes of special SH meeting = proper purposes for SHs, bd must











call the meeting









iii.
purposes:











a.

endorse former pres and demand former pres be reinstated = proper












i.

pres = officer, not dir so SHs have no power to elect pres













ii.

BUT, this isn’t SHs trying to vote for former pres; instead,















SHs are voting on a resolution to endorse former pres as pres















and voicing opinion to bd who can take such axn













iii.
SH meeting to confer about recommendations to bd and















officers and actual recommendations to bd and officers =















proper purposes for SHs










b.

to amend cert of incorp and bylaws to state that vacancies on bd













from the removal of dirs for cause to be filled by class of SHs that













originally elected dir spot now vacant = proper












i.

SHs can’t unilaterally amend cert of incorp












ii.

BUT SHs can unilaterally amend bylaws











c.

to vote on removal of 4 class A dirs for cause and to vote for their













successors = proper













i.

SHs can remove dirs for cause












ii.

SHs don’t have the power to fill vacancies until bylaws or cert















of incorp amended to give SHs such power











d.

to vote to amend bylaws to change quorum req for bd axn = proper












i.

SHs may unilaterally amend bylaws


D.

bd responses to SH initiatives




1.

Blasius v. Atlas






a.

B-SH pushes for biz idea A bd hates






b.

A bd afraid B-SH is capable of gathering sufficient # of consents to allow B-









SH to take control of bd so that B-SH can put idea into axn







c.

to thwart B-SH axn, A bd holds bd meeting:









i.

vote to amend bylaws to increase A bd – ok cuz bd has power to amend











bylaws








ii.

fill A bd vacancies created when bd size increased – ok cuz bd has











power to fill bd vacancies






d.

A bd’s axns legit under law, BUT ct doesn’t allow A bd’s axns to stand








i.

A bd inadvertently breached its duty of loyalty by interfering w/ SHs’











voting rights – bd can’t deprive SHs of right to vote, esp. right to vote











for dirs











a.

axn to preclude SH vote could be warranted under some circs:













i.

SH behaving badly (in a very coercive way)













ii.

dirs have burden of showing they have a compelling















justification for their axn, such as it’s impossible for SHs to















protect themselves








ii.

NOT cuz A bd breached its duty of loyalty by acting in its own self











interest








iii.
dirs can’t invoke BJR to protect against breach of duty of loyalty





2.

affect on anti-takeover devices cuz of duty of loyalty expressed in Blasius






a.

poison pills are fine








i.

target co bd gives its SHs contractual rights: if acquirer acquires 51% of











target corp stock, SHs of target corp that didn’t tender may exchange











stock for a debt instrument worth $100/share








ii.

encourages fewer SHs to tender so acquirer can’t get 51% of target











corp stock to take control of target corp








iii.
even if acquirer succeeds in obtaining 51% of target corp stock to take











control of target corp, acquirer knows that it must buy remaining 49%











of stock for $100/share instead of lower tendered bid, making cost of











acquisition prohibitively expensive and discouraging attempted










takeover








iv.
when bd provides for poison pills, bd provides for redemption of SH











rights for a nominal price to get rid of poison pill when no longer











needed to prevent takeover







b.

dead hand poison pills are fine









i.

form of poison pill that’s not redeemable if there’s a change in bd











control
X.

SH voting in public corps: fed proxy rules



A.

voting in public corps





1.

SHs in public corps don’t ordinarily attend meetings, BUT at meetings, quorum is







still required to conduct biz





2.

to get a quorum, corp solicits proxies allowing SHs to be present physically or by







proxy



B.

fed proxy rules





1.

apply to proxy solicitations by both management and SHs





2.

applies to proxies and consents







a.

proxies = SH axn at meeting







b.

consents = SH axn w/o meeting





3.

scope of rules:






a.

process of SH voting in public corps, specifically dealing w/ info SHs









receive prior to voting to inform their voting






b.

do NOT create substantive rights for SHs




4.

analysis to see if must comply w/ fed proxy rules:







a.

is the corp subject to fed proxy rules?









i.

any corp subject to § 12 SEC Act 1934 – reporting cos











a.

cos whose stock is traded on national securities exchange











AND











b.

cos w/ at least 500 SHs and $10 million worth of assets











c.

S corp not subject to









ii.

S corps not subject to fed proxy rules







b.

do you have a solicitation of a proxy or consent?








i.

solicitation (defined broadly)=











a.

any request for a proxy whether or not accompanied by or included













in a form of proxy











OR











b.

any request to execute or not to execute, or to revoke, a proxy











OR










c.

furnishing of a form of proxy or other communication to security













holders under circs reasonably calculated to result in procurement,













w/holding, or revocation of a proxy









ii.

public advocacy as solicitation – LILCO v. Barbash










a.

ct deemed newspaper ad could be solicitation even tho it was













addressed to customers and only indirectly addressed to SHs and













even tho it was a matter of important public interest to community






c.

if something is a solicitation, is there an exemption permitting one to engage









in that type of advocacy w/o having to comply w/ fed proxy rules?









i.

exclusions:










a.

SH announces in media how SH plans to vote w/ or w/o reasons












for SH’s decision










b.

SH actively solicits on behalf of a SH proposal as long as SH isn’t













asking for any proxies






d.

if something is a solicitation w/o an exemption, solicitation must satisfy









procedural reqs under fed proxy rules




5.

fed proxy rules:







a.

14a-3 – proxy statement has to contain info specified in Schedule 14A









i.

Schedule 14A includes info about person soliciting proxy, nominees for











dir spots, compensation for management






b.

technical reqs









i.

14a-6 filing reqs – copies of proxy statements must be filed w/ SEC at











least 10 days before material to be sent to SHs







c.

14a-8 – SH proposals









i.

SHs have right under state law to make proposals at annual SH meeting








ii.

SHs have certain limited rights to get their proposals into management’s











solicitation materials









iii.
co must include SH proposal in its proxy statement and form of proxy











subject to certain eligibility reqs:











a.

at time of submitting proposal, proponent must be a nominal or













beneficial owner of at least 1% or $2K of securities entitled to vote











AND











b.

at time of submitting proposal, SH must have held securities for at













least a year and hold them through the date of the meeting








iv.
co must include SH proposal in its proxy statement and form of proxy











subject to certain procedural reqs:











a.

proponent or rep must personally attend the meeting to present













proposal











b.

proposal must be submitted very far in advance of meeting













i.

annual meetings: at least 120 days before co’s proxy















statement released











c.

proponent may only submit 1 proposal











d.

supporting statement + proposal can only be 500 words









v.

if SH meets eligibility and procedural reqs, co must include SH











proposal in its proxy statement and form of proxy tho bd has some











options:










a.

bd may include a statement in opposition to SH proposal











b.

bd can try to exclude SH proposal













i.

the process:















a.

file w/ SEC copy of SH proposal and proponent’s
















statement and explain why it takes position that it can

















omit the proposal















b.

division of corp finance will issue a no-axn letter w/o

















explaining why bd correct if it concludes co’s omission

















of SH proposal is fine















c.

if division of corp finance concludes co wrong to omit

















SH proposal, it will say so and explain why














d.

SEC has power to seek injuniction to force co to include

















SH proposal














e.

SHs have private right of axn to challenge co’s omission

















of SH proposal












ii.

exclusions:














a.

proposal isn’t proper subject for axn by SHs under law of

















state of incorp















b.

proposal relates to ops which account for < 5% of corp’s

















total assets and < 5% of revenues and isn’t otherwise

















significantly related to corp’s biz















c.

proposal concerns matter pertaining to ordinary biz ops

















of corp















d.

proposal would require corp to violate any law















e.

proposal violates proxy rules















f.

proposal relates to personal grievance















g.

proposal is beyond power of corp to implement














h.

proposal conflicts w/ corp’s own proposal















i.

co has already substantially implemented the proposal















j.

proposal duplicates someone else’s proposal















k.

proposal has been submitted in past and hasn’t gotten

















much support









vi.
2 types of SH proposals:










a.

proposals related to corporate governance issues











b.

proposals related to social issues













i.

keep in mind Pillsbury and Chevron












ii.

strategy to request bd to prepare report documenting corp’s















practices SHs don’t like















a.

to determine whether bd can omit SH proposal

















requesting report, ct must look to what report relates to















b.

if report relates to significant social policy concerns, bd

















can’t exclude SH proposal requesting report






d.

14a-9 – false or misleading statements









i.

not allowed to include in proxy statements any false or misleading











statements w/ respect to any material fact











a.

fact is material if there’s substantial likelihood reasonable SH













would consider it important in deciding how to vote and can’t omit













any material fact






e.

14a-11 – proxy contests for election and removal of dirs









i.

important that proxy contests exist cuz co can reject SH proposal











relating to election or removal of dirs

XI.
Duty of Care



A.

Biz Judgment Rule (BJR)





1.

rebuttable presumption bd acted in good faith, bd acted in best interest of corp,







and that bd was fully informed in making its decision





2.

SH must allege some irregularity in bd’s decision making process for BJR







presumption to be rebutted and for ct to consider substantive fairness of bd’s







decision







a.

if SH can’t rebut BJR presumption, bd wins and ct will never consider









substantive fairness of bd’s decision









i.

good process =











a.

dirs well-informed











b.

dirs act in good faith







b.

if SH rebuts BJR presumption by showing bd used flawed process to make









its decision, ct will consider substantive fairness of bd’s decision and bd has









burden of showing its decision = fair




3.

analysis of BJR case:







a.

does BJR even apply?









i.

if no axn taken by bd or dir, it’s not a BJR case







b.

analyze bd’s decision making process to see if BJR presumption protects bd









cuz process = w/o irregularity









i.

is the decision an informed process?











a.

what would reasonable person want or need to know to make this













decision










b.

whether decision of bd = neg or grossly neg given what dirs knew






c.

if BJR presumption rebutted, analyze inherent fairness of bd’s









transaxn/decision









i.

for fairness, consider:











a.

fair price











b.

fair dealing







d.

if decision not substantively fair, dirs personally liable









i.

dirs generally have liability insurance, but premiums on liability











insurance rose after dirs found liable in Van Gorkom cuz it lessened











BJR protections


B.

Cases





1.

Kamin v. Am. Exp.






a.

SHs seek to enjoin bd from distributing depreciated stock as a dividend cuz it









wastes corporate assets since corp could take tax loss for it






b.

dirs argue distributing depreciated stock as dividend so don’t have to show









loss on income statement to protect value of SHs’ stock






c.

BJR analysis:









i.

process: w/o irregularity so don’t consider substantive fairness of











decision










a.

bd held special meeting to consider SHs’ concerns











b.

bd fully informed itself of its options




2.

Francis v. NJ







a.

not a BJR case









i.

doesn’t involve decision made by dir cuz dir in Q didn’t make a











decision at all to look into its process or substance








ii.

instead dealing w/ tort case: neg










a.

dir has duty to carry out obligations w/ degree of care ordinary













prudent person in like crics would use







b.

D = estate of Mrs. P, the wife of founder and mom of sons who stole money









from co., also a dir of co






c.

trustee in bankruptcy suing estate to try to get money back into corporate









solution cuz beneficiary’s of estate = sons that stole and sent biz into









bankruptcy







d.

Mrs. P allegedly violated duty of care as dir – should’ve known what was









going on at co; didn’t do anything to inform self about biz and its dealings






e.

does dir have a duty here?









i.

fiduciary duties of dirs are owed to SHs









ii.

here, SHs aren’t suing









iii.
general rule = fiduciary duties don’t run to creditors, BUT exceptions:










a.

if corp is insolvent or on brink of insolvency, dirs’ fiduciary duties













shift from SHs to creditors











OR











b.

if creditors are in a trust-type relationship













i.

here, we have a trust-type relationship btwn co and creditors















cuz co is a brokerage remitting funds back and forth












ii.

duty owed through relationship breached cuz dir failed to















engage in activity dir expected to engage in




3.

Smith v. Van Gorkom






a.

former SHs sue dirs alleging dirs’ breach of duty of care to be well-informed








in making decision






b.

BJR analysis of bd’s decision to sell co








i.

process dirs used to make decision:










a.

is the decision an informed process?












i.

valuation of price of stock for sale came from rejected LBO















plan and CFO not consulted on price of stock for sale














a.

tho sale price represents premium over trading price, ct

















isn’t considering substantive fairness of decision yet















b.

no amt of premium over trading price will satisfy

















procedural req bd’s decision be well-informed














c.

bd always needs to know merger price, how merger price

















reached, and facts to determine whether merger price is

















adequate













ii.

facts unfolding at rapid pace












iii.
meeting to decide whether to sell co = short; only 2 hrs













iv.
bd knew only what 1 SH had told them about the sale














a.

SH concocted and put deal into axn















b.

SH is the one who suggested a price to buyer-co












v.

dirs didn’t get the merger docs at all













vi.
dirs didn’t have time to read merger docs













vii.
bd should’ve at least had summary of main points of sale












ix.
fact that SHs approved merger didn’t cure dirs breach of duty















of care in making decision to sell co








ii.

cuz process dirs used to make decision to sell co = flawed, dirs lose BJR











protection and ct must consider substantive fairness of dirs’ decision to











sell co:


C.

subsequent developments





1.

Del. § 102(b)(7)







a.

when optional provision under this § is included in cert of incorp, dirs won’t









be liable for monetary damages for beach of duty of care






b.

this provision doesn’t remove dir liability for breach of duty of good faith or









breach of duty of loyalty







c.

included cuz dirs’ liability insurance premiums high, which SHs have to pay









(thru corp as owners of corp)






d.

doesn’t prevent SHs from seeking injunction against dirs based on breach of









duty of care





2.

Unocal






a.

enhanced duty of care









i.

a special app of BJR in context of hostile takeover bid where bd adopts











defensive measures to fend off hostile bids











a.

hostile bid = bid bd opposes cuz price or structure inadequate









ii.

reqs for BJR protection to apply to dirs:










a.

bd to conduct good faith, reasonable investigation of threat posed













by offer












i.

threats posed by offer = threat of inadequate price or threat of















break up of firm











b.

bd’s defensive measures must be proportional or reasonable to













threat faced






b.

app: dirs lost BJR protection









i.

threat = threat of break up of firm









ii.

bd’s defensive measures = sell off part of firm to prevent sale to bidder











threatening break up











a.

not a reasonable defensive measure cuz threat trying to protect













against = breaking up of firm yet defensive measure would do just













that too




3.

Revlon






a.

bd’s duty becomes duty to get best price possible for SHs if:








i.

merger going to go through









ii.

break up of co inevitable









iii.
change of control is inevitable







b.

bd can’t favor 1 bidder over another on grounds unrelated to price




4.

Blasius






a.

dead hand poison pill may violate Blasius cuz interferes w/ SH vote, esp. SH









vote for dirs and breaches dirs’ duty of loyalty




5.

Weinberger






a.

if bd loses protections of BJR, ct considers substantive fairness of bd’s









decision:








i.

fair price – value biz to determine if sale price is fair








AND








ii.

fair dealing – ct should consider everything considered during 1st part of











BJR analysis as to procedure










a.

involves duty of candor and duty of full disclosure











b.

how was transaxn timed, initiated, structured, negotiated, disclosed
XII.
Duty of Loyalty



A.

Interested Dir Transaxns





1.

Intro







a.

transaxns where dir on both sides of transaxn







b.

corp law has never made interested dir transaxns per se voidable




2.

state statutes







a.

Del. § 144









i.

interested dir transaxn isn’t automatically void just cuz it’s an interested










dir transaxn IF:











a.

there’s full disclosure to bd of interested nature of transaxn and













disinterested dirs approve transaxn











OR











b.

there’s full disclosure to SHs of interested nature of transaxn and













SHs approve transaxn













i.

note that it doesn’t say that the disinterested SHs approve















transaxn so implies interested SHs can vote











OR










c.

transaxn is fair to corp at time it’s authorized as determined by 3rd












party review








ii.

analysis:











a.

is it an interested dir transaxn?












i.

looking for dir on both sides of transaxn












ii.

if dir on both sides, dir loses BJR protection and interested dir















transaxn analysis applies













iii.
if dir not on both sides, BJR analysis applies to decision











b.

did dir comply w/ Del. 144(a)(1) or (a)(2)?












i.

is there adequate disclosure by dir to and approval by:















a.

disinterested dirs















OR














b.

SHs













ii.

if not adequate disclosure or if no approval, test for















substantive fairness of interested dir transaxn requiring dir to















have the burden of proving substantive fairness (Del.















144(a)(3))












iii.
if yes adequate disclosure and approval by either disinterested















dirs or SHs, consider how dir complied w/ Del. 144(a)(1) or















(a)(2)











c.

how did dir comply w/ Del. 144(a)(1) or (a)(2)?












i.

(a)(1) compliance:















a.

compliance through majority approval of disinterested

















dirs after disclosure of interested nature of transaxn

















i.

counts as a vote of majority even if there’s only a



















small # of disinterested dirs voting normally not



















enough to warrant axn

















ii.

interested dir doesn’t get to vote

















iii.
3 possible approaches:



















a.

Fliegler – test for substantive fairness of





















interested dir transaxn requiring interested dir





















to have burden of proving substantive fairness



















OR



















b.

test for substantive fairness of interested dir





















transaxn requiring SH to have burden of





















proving transaxn not substantively fair



















OR



















c.

Marciano – dirs regain BJR protection and ct





















engages in BJR analysis: ct considers bd’s





















decision making process and if that process is





















flawed, ct considers substantive fairness of





















transaxn












ii.

(a)(2) compliance either through:















a.

compliance through majority approval of SHs after

















disclosure of interested nature of transaxn where there

















wouldn’t have been approval by majority of SHs if

















interested dir as SH hadn’t voted his shares
















i.

ct tests for substantive fairness of transaxn requiring



















interested dir to have burden of proving substantive



















fairness















OR















b.

compliance through majority approval of SHs after

















disclosure of interested nature of transaxn where there

















would’ve been approval by majority of SHs if interested

















dir as SH hadn’t voted his shares, which amounts to

















majority approval by disinterested SHs
















i.

3 possible approaches:


















a.

Fliegler – test for substantive fairness of





















interested dir transaxn requiring interested dir





















to have burden of proving substantive fairness



















OR



















b.

test for substantive fairness of interested dir





















transaxn requiring SH to have burden of





















proving transaxn not substantively fair



















OR



















c.

Marciano – dirs regain BJR protection and ct





















engages in BJR analysis: ct considers bd’s





















decision making process and if that process is





















flawed, ct considers substantive fairness of





















transaxn







b.

Cal. § 310









i.

interested dir transaxn isn’t automatically void just cuz it’s an interested











dir transaxn IF:











a.

there’s full disclosure to SHs and transaxn is approved by













disinterested SHs (interested dir who is a SH can’t vote his shares)









OR









ii.

there’s full disclosure to dirs and interested dir transaxn is approved by











disinterested dirs









OR









iii.
interested dir transaxn is fair as determined by 3rd party review





3.

Cases







a.

Remillard – Cal.








i.

Cal. law in effect at time didn’t require majority approval by











disinterested SHs like 310 does








ii.

SS = sole SH in sales co and majority SH in manu co; shifted sales axn











of manu co to sales co so wouldn’t have to share profits of manu co w/











minority SHs








iii.
analysis:










a.

it’s an interested dir transaxn cuz SS is on both sides of transaxn













transferring sales axn of manu co to sales co











b.

transaxn technically complies w/ 820 reqs:












i.

SS fully disclosed interested nature of transaxn to SHs and















obtained majority approval from SHs













ii.

820 didn’t require majority approval by disinterested SHs so















SS able to vote and as majority SH of course SS got majority















approval from SHs









iv.
tho there’s technical compliance w/ 820, ct may still consider











substantive fairness of interested dir transaxn











a.

if ct considers interested dir transaxn unfair, technical compliance













w/ 820 won’t save interested dir transaxn from ct voiding it






b.

Fliegler – Del.








i.

compliance w/ Del. 144 isn’t a complete bar to interested dir transaxn











being voided and interested dir being found to have breached duty of











loyalty to SHs








ii.

despite compliance w/ Del. 144, ct may still consider substantive











fairness of interested dir transaxn



B.

Corp Opportunity





1.

Intro







a.

prohibits dir or officer from diverting to himself biz opp belonging to corp






b.

doesn’t prohibit dir or officer from having interest in multiple corps in same









industry





2.

corp opportunity =






a.

tests applied in various jurisds









i.

interest or expectancy











a.

corp opp = biz opp in which corp has interest or expectancy or













which is essential to corp











b.

Burg v. Horn













i.

B and H form co to invest in rental propties; H previously in















biz before and maintains its own biz; in fact, H bought rental















propties during co’s existence; as a result, B argued H















usurped co’s corp opp













ii.

rejects line of biz test













iii.
accepts and applies interest or expectancy test














a.

unless corp in process of acquiring additional propties, H

















could properly take additional propties as biz opps for H















b.

unless there’s a K agreement limiting corp opps in line of

















biz to co, default rule = corp opps are interests or

















expectancies of biz








ii.

line of biz











a.

broader standard than interest or expectancy so includes more as













corp opp











b.

Guth v. Loft













i.

line of biz test takes into account corp’s reasonable needs and















aspirations for expansion













ii.

accepts and applies line of biz test








iii.
fairness, alone or in conjunction w/ other standards









iv.
parties can determine and set by K what will = corp opp





3.

when may corporate manager take corporate opportunity for himself?






a.

Del. § 122(17)









i.

corps have power to renounce any interest or expectancy of corp in











specified biz opps or classes of biz opps presented to corp









ii.

stated in cert of incorp







b.

defenses permitted in various jurisds:









i.

opportunity came to manager in personal capacity and not in his











capacity as manager of corp









ii.

corp unable to take advantage of opportunity









iii.
disinterested dirs or SHs rejected opportunity after it was disclosed by











manager and full discussion of it




4.

remedies for usurping corporate opportunity







a.

imposition of constructive trust so income on investment goes to corp that









should’ve had the corp opp







b.

ct orders all profits realized on investment by corporate manager go to corp




5.

corp opp analysis:







a.

is this a corp opp?







b.

what does K and cert of incorp say about corp opps?







c.

any defenses available to corporate manager?

XIII.
Insider Trading



A.

Rule 10b-5





1.

elements of liability:







a.

interstate commerce









i.

trader must use any means or instrumentalities of interstate commerce











to do the trading







b.

in connexn w/ purchase or sale of security








i.

interpreted broadly









ii.

BUT 1 situation not satisfying this = misleading statement or its











equivalent induces person not to buy or sell






c.

material misinformation/material misrepresentation








i.

misrepresentation/deception satisfied by:











a.

trader either affirmatively misrepresented a material fact











OR











b.

failed to state a fact that made his statement misleading











OR











c.

possession of material nonpublic info where remained silent and













traded tho had a fiduciary duty triggering a duty to disclose













material fact or abstain from trading on basis of info












i.

this is how insider trading, tho not inherently deceptive, is















included in liability for Rule 10b-5













ii.

Rule 10b5-1:















a.

mere possession of info not enough for liability















b.

ind need not have used info to trade














c.

it’s enough to show ind aware of material non public info









ii.

fact = material if there’s a substantial likelihood that a reasonable











investor would consider it as altering total mix of info in deciding











whether to buy or sell











a.

info about pending merger = per se material









iii.
2 theories of liability under Rule 10b-5 for insider trading:











a.

-1-classic insider trading theory of liability











b.

-2-outsider misappropriation theory of liability









iv.
duty w/in family context











a.

family members don’t owe duty to 1 another solely cuz are family











b.

for duty btwn family members need a fiduciary relationship or













relationship based on trust or confidence










c.

Rule 105b-2 – substitute for relationship based on trust or













confidence or fiduciary relationship IF:













i.

person receives or obtains material nonpublic info from















spouse, parent, child, or sibling BUT recipients can argue














there was no expectation recipient would keep it confidential













OR













ii.

person agrees to maintain info in confidence












OR













iii.
speaker and recipient have pattern or practice of confidences















such that speaker expects recipient to maintain speaker’s















confidence and recipient knows this










d.

Reed – there’s repeated disclosure of biz secrets to family member








v.

insider =











a.

dirs, officers, former officers, former dirs










b.

constructive insiders













i.

outsiders retained to work for corp (accountants, attys)













ii.

outsider becomes insider as result of entering into















relationship of trust and confidence w/ corp and receiving















non-public info w/ expectation that outsider will keep it















confidential









vi.
classic insider trading theory of liability:











a.

trading or tipping tippee who trades by insider w/ material













nonpublic info when insider owes fiduciary duty to SHs/co of













stock trader traded in breaches duty to disclose material nonpublic













info to SHs/co of stock traded in or abstain from trading











b.

Chiarella













i.

ct found C owed no fiduciary duty to SHs/co in whose stock















C traded so C had no duty to disclose material nonpublic info















to co or to abstain from trading so no 10b-5 violation















a.

trader worked for printer co from where trader obtained

















material non-public info trader used to trade and gain

















which printed material for corp whose stock C traded in














b.

required fiduciary relationship/relationship of trust and

















confidence needed to trigger duty to disclose or abstain

















missing:

















i.

not a fiduciary of corp

















ii.

no prior dealings w/ corp

















iii.
not corp’s agent

















iv.
not person in whom corp placed its trust or



















confidence










c.

tippee liability in context of classic insider trading – Dirks












i.

tippee had no duty to disclose to corp/SHs so no 10b-5















violation















a.

no duty in his ind capacity cuz outsider to corp















b.

no duty based on tipper-insider’s duty cuz tipper didn’t

















breach a duty to corp/SHs since tipper didn’t benefit

















from disclosure
















i.

tipper didn’t benefit from disclosure cuz disclosed



















to blow whistle on corp and expose fraud













ii.

tippees assume insider’s-tipper’s fiduciary duty to corp/SHs















IF:














a.

insider has breached his duty to corp/SHs by disclosing
















info to tippee

















i.

insider breaches duty in disclosing info to tippee if



















insider benefited personally from disclosure to



















tippee



















a.

directly or indirectly



















b.

pecuniary or reputational



















c.

making a gift of confidential info is treated as





















tho insider trade himself and made a gift of





















profits to recipient of info



















d.

determined by objective standard in light of





















totality of circs





















i.

who did insider tell





















ii.

insider’s relationship w/ person insider























told



















e.

not determined by subjective intent of insider





















to benefit















AND















b.

tippee knows or should have known that insider breached
















his fiduciary duty to corp/SHs










d.

app of Dirks rule w/ tippee liability to eavesdropper – Switzer












i.

trader overheard convo btwn CEO and wife; based on non-















public info, trader traded in securities of CEO’s corp













ii.

no tippee liability for trader cuz tippee didn’t have a duty to















disclose or abstain cuz tippee didn’t owe duty to corp since














insider didn’t breach duty by disclosing info to tippee cuz















insider didn’t benefit from disclosure













iii.
trader doesn’t owe duty corp as an insider cuz lacks fiduciary















duty to SHs/co as an outsider













iv.
no general eavesdropper rule imposing duty 









vii.
outsider misappropriation theory of liability










a.

trading or tipping tippee who trades by misappropriator of material













nonpublic info when misappropriator owes duty to source of info













breaches duty to disclose material nonpublic info to source of info













or abstain from trading











b.

Chiarella-like traders who aren’t liable under classic insider













trading liability theory cuz lack duty under that law can still













be liable under outsider misappropriate theory











c.

insider trading occurs cuz material non-public info













misappropriated from source of info











d.

Chestman












i.

family biz; head honcho told kids of deal and told them















to keep it secret; info disclosed to outsider (extended















family member) who disclosed to tippee; tippee traded















based on info benefiting tippee and tipper













ii.

outsider misappropriation liability combined w/ Dirks














tippee liability












iii.
tippee assumes misappropriator’s duty to source of info IF:















a.

misappropriator breached his duty to source of info

















by disclosing info to tippee:

















i.

misappropriator breaches duty to source of info



















when misappropriator personally benefits from



















disclosure



















a.

directly or indirectly



















b.

pecuniary or reputational



















c.

making a gift of confidential info is treated as





















tho misappropriator trade himself and made a





















gift of profits to recipient of info



















d.

determined by objective standard in light of





















totality of circs





















i.

who did misappropriator tell





















ii.

misappropriator’s relationship w/ person























told



















e.

not determined by subjective intent of





















misappropriator to benefit















AND















b.

tippee knows or should have known

















misappropriator breached duty to source of info












iv.
misappropriator-tipper didn’t owe duty to source of info and















therefore didn’t breach duty to source of info so tippee didn’t















breach duty to source of info and didn’t breach duty to















disclose material nonpublic info or abstain from trading and















didn’t violate 10b-5










e.

O’Hagan













i.

S. Ct. establishes outsider misappropriation theory can be the















basis for 10b-5 liability












ii.

duty to disclose runs to source of info and NOT to ind on















other side of misappropriator’s transaxn













iii.
misappropriator breaches duty to source of info cuz has a















relationship of trust and confidence w/ source –















misappropriator’s emp/er law firm – so misappropriator















breaches duty to disclose material nonpublic info or to abstain















by trading based on material nonpublic info












iv.
if trader had traded in stock of firm’s client, trader would’ve















been liable as an insider cuz owes fiduciary duty to SHs/co of















stock in which traded as trader’s firm’s client and by trading,















trader breached duty to disclose material nonpublic info or to















abstain from trading







d.

scienter









i.

trader knew OR was reckless in not knowing of misrepresentation









AND









ii.

trader intended other party to rely on misrepresentation









iii.
neg not enough to establish req state of mind







e.

reliance









i.

other party relied on misrepresentation









ii.

relaxed standard so need not show actual reliance











a.

fraud on the market presumption – cts assume investors rely on













integrity of trading markets so if misrepresentation affects price of













corp’s stock, misrepresentation = fraud on the market; cts assumes













investors rely on misrepresentation cuz investors assume market













price reflects truth











b.

trader can rebut presumption  by showing misrepresentation had no













effect on trading price of stock OR other party would’ve traded













even absent misrepresentation







f.

causation









i.

other party suffered actual damages as result of trading



B.

Remedies for 10b-5 violation





1.

c/a brought by:







a.

SEC as civil axn







b.

DOJ as criminal axn







c.

private party as civil axn





2.

rescission of transaxn





3.

disgorgement damages – other party can recover trader’s profits from security





4.

out-of-pocket damages – other party can recover out of pocket damages = to price







at which other party bought or sold and true value of stock on that date of sale





5.

no punitive damages





6.

criminal fines, jail terms for criminal cases; civil penalties in civil cases





7.

censure securities professionals so that ind can’t work in securities industry



C.

Statute of Limitations for 10b-5 axn




1.

10b-5 axn must be brought w/in 3 years after challenged violation and 1 yr after







discovery of facts constituting violation



D.

14e-3 for tender offers





1.

tender offers = when acquirer makes offer to SHs of target co directly to buy their







stock





2.

during tender offer, anyone who has material non-public info about tender offer is







prohibited from trading if he knows or has reason to know info obtained from







bidder or target




2.

doesn’t require govt prove breach of fiduciary duty



E.

16b




1.

no intent req




2.

applies to:







a.

trading in stock of reporting corp under 1934 SEC Act § 12









i.

publicly traded stock









AND









ii.

500 SHs









AND









iii.
10 million in assets









iv.
S corp not subject to







b.

officers, dirs, and SHs who beneficially own more than 10% of any class of









corp’s equity securities




3.

reqs periodic filings w/ SEC to report on insider’s ownership of stock of co





4.

remedy = reqs officers, dirs, 10% SHs to pay to corp any profits made by







purchasing and selling corp’s stock during 6 mo. period




5.

look to see if there’s any profit from matching any purchase by insider w/ any sale







by same insider w/in 6 mo. period (6 mos. before and 6 mos. after)






a.

purchase doesn’t need to be before sale or vice versa







b.

when matching sale and purchase, quantities of shares involved don’t need to









be same amt; only match up to lowest # tho and calculate profit based on that





6.

ex: 7-1, yr 1, D bought 200 sh of corp’s stock for 5/sh; 2-1, yr 2, D sold 200 sh at







15/sh; 5-1, yr 2, D bought 300 sh at 10/sh







a.

7-1 purchase can’t be matched w/ a sale w/in 6 mos. before or 6 mos. after







b.

2-1 sale can be matched w/ 5-1 purchase cuz they’re w/in 6 mos. of each









other









i.

BUT only 200 sh can be matched









ii.

profit = purchased at 10/sh and sold at 15/sh = 5/sh









iii.
profit and what D must pay to corp = (5/sh) (200sh) = 1K

